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Time : Three hours
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(For candidates admitted from 2022-2023 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.

Part III — Professional English

PROFESSIONAL ENGLISH FOR PHYSICAL

SCIENCES -1
Maximum : 75 marks

PART A — (20 marks)
(A) Choose the best answer: (5x1=5)

When you leave a message in someone’s voicemail,
what is most important?

(a) Say the date and time

(b) Say your telephone number
(c) Ask tocall back

(d) Ask not to call back

Role-playing scenarios should include

(a) only historical events and settings

(b) only the physical setting the actors will work
within

(c) only the situation the actors find themselves
n

(d) the setting and situation the characters are
experiencing




3.

d) To

Which of these must be avoided in a group
discussion?

(a) Speaking facts

(b) Asking questions

(¢) Speaking fast

(d) Speaking with clarity

Person who does not believe in the existence of
God:

(@) Theist (b) Heretic

(c) Atheist (d) Fanatic

What . i1s the

advertisements?

purpose of repetition in

(a) To confuse the audience

(b) To

familiarity

emphasize key points and create

(¢) To distract the audience from the main
message

decrease the effectiveness of the

advertisement

2 S.No. 8104
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10.-

11.

11.

13.

(B) Fill in the blanks: (5%x1=5)

Fill in the blank using suitable question tag :
We won't be late,

Fill in the blanks with a linking expression :

I learned Spanish be able to find a job
during my stay in Spain.

Fill the right voice in the blank : The teacher
the students to be careful.

Fill in the blanks with the correct modal verb :
According to the weather forecast, it
snow heavily tomorrow. (may/shall)

Fill in the blank with the suitable expression : “If
you'd rather not go tonight, thats ——— to
me.”

Answer the following questions. (5bx2=10)

Define Prefix with examples.

Explain the difference between structured and
unstructured role play.

How can listening to inventors contribute to
understanding the challenges and opportunities
within their respective fields?
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Which of these must be avoided in a group

discussion?

(a) Speaking facts

(b) Asking questions

(c) Speaking fast

(@) Speaking with clarity

Person who does not believe in the existence of
God:

(a) Theist (b) Heretic

(c) Atheist (d) Fanatic

What . is the
advertisements?

purpose of repetition in

(a) To confuse the audience

(b) To emphasize key points and create
familiarity

() To distract the audience from the main

message

(d) To decrease the effectiveness of the

advertisement
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8.

10.

I1.

11.

13.

(B) Fill in the blanks: (G5x1=5)

Fill in the blank using suitable question tag :
We won't be late,

Fill in the blanks with a linking expression :
I learned Spanish be able to find a job
during my stay in Spain.

Fill the right voice in the blank : The teacher
the students to be careful.

Fill in the blanks with the correct modal verb :
According to the weather forecast, it
snow heavily tomorrow. (may/shall)

Fill in the blank with the suitable expression : “If
you'd rather not go tonight, thats ———— to
me.”

Answer the following questions. (5 x 2=10)

Define Prefix with examples.

Explain the difference between structured and
unstructured role play.

How can listening to inventors contribute to
understanding the challenges and opportunities
within their respective fields?

3 S.No. 8104



14. What are the potential drawbacks of multitasking

while listening to a presentation?

.15. Discuss the significance of using active voice
rather than passive voice in simple sentences.

PART B — (56 x 5 = 25)

Answer ALL questions, choosing either (a) or (b)

in each.

16. (a) You have recently completed an internship or

(b)

work placement and want to send a
thank-you letter to your supervisor or
mentor. Write a letter expressing your
gratitude for the opportunity, summarizing
what you have learned, and expressing your
interest in staying connected.

Or

You have completed a project or milestone
and want to update your supervisor or team
members via email. Write an email
summarizing your accomplishments,

highlighting key outcomes, and expressing '

appreciation for any support or collaboration.

4 S.No. 8104

Read the following passage and answer the
questions given bélow:

The water cycle begins with the process of
evaporation, in which water from oceans,
lakes, rivers and other bodies of water is
heated by the sun and changes from liquid to
vapor form. This water vapor rises into the
atmosphere, where it cools and condenses to
form clouds, Condensation occurs when water
vapor molecules come into contact with cooler
air and change back into liquid droplets.

When the droplets in clouds become large
enough, they fall to the Earth’s surface as
precipitation, which includes, rain, snow,
sleet, and hail. Precipitation vreplenishes
bodies of water such as rivers, lakes, and
groundwater reserves, completing the cycle.
Some precipitation flows over the land as
runoff, eventually returning to the oceans
and restarting the cycle.

The water cycle is essential for sustaining life
on [Earth and supporting ecosystems. It
regulates the distribution of freshwater
resources, provides moisture for plants and
animals, and helps to regulate the Earth's
climate by transporting heat around the
globe,
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(b)

Questions:

(i) What is evaporation, and where does it
occur?

(i) Describe the process of condensation.

(iii) Why is the water cycle important for
sustaining life on Earth?

(iv) Name some materials commonly
recycled.

(v) What are the economic beneflits of
recycling?

Or

Read the following passage and answer the
questions given below:

Bees are one of the most important
pollinators in the world, playing a vital role
in the reproduction of flowering plants and
the production of many fruits, vegetables,
and nuts. They accomplish this by
transferring pollen from the male parts of
flowers to the female parts, facilitating
fertilization and the production of seeds.

In addition to their role in pollination, bees
also contribute to ecosystém stability and
biodiversity. They serve as food sources for
other animals, including birds and mammals,
and play a crucial role in maintaining the

. health and productivity of natural habitats.

6 S.No. 8104

However, bees face Numerous th
including habitat loss, pesticige ¢ o
climate change, and diseases such as col
collapse disorder. These threats have lredmr;y
declines in bee populations v.J\.'m-ldw.-ide0
raising concerns about the I
agriculture and ecosystems.

Xposure,

future of

To address these challenges, efforts are
underway to promote bee conservation and
sustainable bee keeping practices. This
includes protecting and restoring hee
habitats, reducing the wuse of harmful
pesticides, and raising awareness about the
importance of bees and other pollinators.

Questions:

(i) What role do bees play in the
reproduction of flowering plants?

(i) How do bees contribute to ecosystem
stability and biodiversity?

(11i) What are some of the threats facing
bees?

(iv) What efforts are being made to address
these threats?

(v) Why is bee conservation impertant for
agriculture and ecosystems?

S.No. 8104

-



18.

(a)

(b)

Change the following active voice into passive
voice:

(1) The man dropped his axe into the river.
(i) The bird was shot by the naughty boy.
(iii) The bag was found by me.
(iv) Natasha lost the money.
(v) The farmer will plough the field.

Or

Change the following passive voice into active
voice:

(1) The race was won by William.

(i) New schools are being built by the

government.

(1)) Two hamburgers have been eaten by
_ Steven.

(iv) The soup is cooked every week by my
mother.

(v) A new product will be launched by my
company,

8 S.No. 8104

19. (a) The bar graph shows the estimated number

of vehicles taken out of production due to
microchip shortages as of May 2021.

The U.S. Car Models Worst Hit
By The Microchip Shortage

Estimated number of vehicles taken out of production due
lo microchip shorlages (as of May 2021)
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Malibu  Explorer Compass Edge  Escape

Questions:

(i) Which model was hit the hardest by the
microchip shortage?

(i1) How many vehicles did Ford take out of
production?

(iti) How many vehicles did Chevrolet take
out of production?

(iv) How many more Ford vehicles have been

taken out of production than Jeep
vehicles?

(v) What percent of the worst-hit models
were made by Ford?

Or

\ 9 S.No. 8104



() The bar graph shows the rise and fall of CD 20. (a) Draft an essay on the issue of test anxiety

album sales in the US since 1983 in millions. and its detrimental effects on students'
performance in exams.
The Rise and Fall Or
of the Compact Disc
CD album sales in the United States since 198{1 (b) Draft an essay on how students effectively

(in million units . s 3
f manage their workload and maintain a

1,000 m ﬂ = healthy work-life balance.
soom (&
PART C — (3 x 10 = 30)
L Answer any THREE questions.
400 m
200m 91. Analyze the role of reading short passages in
om developing critical thinking skills.
1983 1990 2000 2010 2021

22,  Define Mass Communication.
Questions:
23. Draft an essay on the use of pesticides in
(1) What is the mode of the data and when cultivation.
did it occur?
By ) 24. Explore the impact of effective slide transitions
(i1) During which time periods did CD sales and animations on the overall flow and coherence
break 600 million? of a short speech delivered through a PowerPoint
presentation.
(iii) About how many more CDs were sold in
2000 than in 19907 25. Explore a motivational story that showecases the
' transformative power of continuous learning and

(iv) Calculate the percent decline in sales skill development in career progression.

from 2000 to 2020.

(v) Givea suitable title.

10 S.No. 8104 11 S.No. 8104
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B.C.A/B.Se. DEGREER BXAMINATION, APRIL 2024

Part 111 — Computer Application/Computer
Science/Cyher Seeurity/Information
Technology/Software Development — Major

PROGRAMMING IN JAVA
Time : Three hours Maximum : 75 marks
SIECTION A — (20 marks)

Answer ALL questions.

I. (A)  Multiple Choice questions : (521=5)
i, In Java, which «class 1is wused for string
manipulation?
(a) String (b) StringBuilder
(c) StringBuffer (d) Math
2. Inheritance in Java is achieved through which
keyword? .
(a) extends (b)  implements

(c) super (d) final



10.

What is polymorphism in Java?
(@) The ability of a class to have multiple
constructors

(b) The ability to create objects of different
classes

(c) The ability of a method to have multiple
definitions :

(d) The ability to access private members of a
class

Which access specifier allows a class or method to
be accessible only within the same package?

(a) public (b) private
(¢) protected (d) default

Which keyword is used to handle exceptions in
Java?

(a) throw (h) catch

(c) try (d) fnally

(B) Fill in the Blanks: (5x1=5)
A ———— is a blueprint for creating objects

in Java, defining their properties and hehaviors.

Java packages are used to organize and group
related classes and provide control.

A—— isa special type of method in Java
that is called when an object of a class is created.

In Java, an array is a data structure that can
store multiple values of the same —MMM—

The charAt(int index) method is used to access a
specific character in a Java

2 S.No. 7133

II.

11.
12.
13.

16.

17.

18.

Descriptive Questions : (5x2=10)

What is an object in Java?
What is the purpose’of using packages in Java?

Explain  the difference between a default
constructor and a parameterized constructor.

How do you declare and initialize a one-
dimensional array in Java?

What is the difference between equals() and ==
when comparing strings?

SECTION B — (5 x 5 = 25)
Answer ALL questions.

(a) Explain the  concept of  platform
independence in Java. How does the Java
Virtual Machine (JVM) contribute to this
feature?

Or

(b) Describe the differences between a class and
an object in Java.

(@) Explain the purpose of constructor methods
in Java.
Or

(b) Compare and contrast one-dimensional and
two-dimensional arrays in Java.

(a) Describe the significance of the this keyword
in Java classes.
Or
(b) Discugés the concept of dynamic arrays in
Java using the ArrayList class.

3 S.No. 7133



19.

20.

21.

24.

25.

(a) Discuss the importance of the final keywo.rd
in Java. Provide examples to illustrate its
usage in classes, methods, and variables.

Or

(b) Explain the difference between checked and

unchecked exceptions in Java.

(a) Describe the concept of method hiding in
Java and provide examples to demonstrate
how it differs from method overriding.

Or
(b) Explain the concept of primitive data types
in Java. Provide examples of different
primitive data types and their uses.

SECTION C — (3 x 10 = 30)
Answer any THREE out of Five questions.

Explain  the principles of object-oriented
programming (OOP) in Java.

Explain the Constructor Overloading in java.

Discuss the single and multi-dimensional arrays
and their usage.

Explicate the Method Overriding with an example.

Discuss the JDBC and CRUD Operations.

4 ‘ S.No. 7133
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(For candidates admitted from 2022 — 2023 onwards)

B.Sc. DEGREE EXAMINATION, APRIL 2024.
Part ITI — Allied
NUMERICAL ANALYSIS AND PROBABILITY

Time : Three hours Maximum : 75 marks
PART A — (20 marks)
Answer ALL questions.

L (A) Choose the best answer. - (5x1=5)

1. In Newton Raphson method if the curve f(x)is
constant then

(@) f(x)=0 ®) fx)=c
(@ [(x)=0 d  f(x)=0
2. In Gauss Elimination method, original equations
are transformed by using
(a) Column operations
(b) Row operations
(c) Mathematical operations

(d) Subset operations

10.

In Runge Kutta-II order method K,=

@ 7 fxg-h) ®)  hflxo—hye=l)
©  hf(xg+h,y,+k) (d) _ hf(-'c;,yu)
Median of 40, 90, 61, 68, 72, 43, 50, 84, 75, 33
(@) 75 (b) 645

() 90 d) 33

If E(X+C)=10 and E(X-C)=6, then the value of
G s

(a) 1 b 2

(c) —é' d) 0

(B) Fill in the blanks : (5x1=25)
A=

. -
Simpson's 5 rule =
In Gauss Elimination method, the co-efficient
matrix is transformed to ———— form.

If X and Y are independent, cov(X,Y)=

The equation of regression line of x on y is

2 S.No. 7709



11.

11.

13.

14.

15.

16.

Answer ALL questions. (B x2=10)

Write Newton's forward difference interpolation
formula.

State the condition for convergence of Gauss
Seidel method.

Write Milne's corrector formula.

Write any two merits of mode.

State Spearman’s formula for Rank correlation.
PART B — (5 x 5 = 25)
Answer ALL questions.

(a) Find a root of the equation x°=2x+5 correct
to three decimal places by iteration method.

Or

(b) The population of a town is given in the
following table. Estimate the population for
the year 1946.

Year x: 1941 1951 1961 1971 1981 1991
Population y 20 24 29 36 46 b1
(in Lakhs) :

3 S.No. 7709

17.

18.

9.

1
d ; s
(a) Evaluate J-1+:;2 , using Trapezoidal rule
0

with h=0.2.
Or
() Solve by Gauss Elimination method :

3x+4y+52=18
2x-y+8z=13
bx—2y+T7z=20
(a) Using Euler’s method, find »(0.02) from

D __ ) y(0)=1 and ~=0.01.
dx

Or

(b) Using second order Runge Kutta method,
find ¥(0.1), 3'(0.2) from y'=-y, y(0)=1.

(a) Find the mode for the following distribution

Class-interval : 0-10 10-20 20-30 30-40

Frequency : 5 8 7 12
Class-interval : 40-50 50-60 60-70 70-80
Frequency : 28 20 10 10

Or

4 S.No. 7709
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20.

21

®) A random variable x has the following

probability distribution.
x: -2 -1 0 1 2 3

Px): 0.1 0.1 02 02 03 01
Find E(X), E(X*) and Var(X).

(a) Calculate the correlation co-efficient for the
following data :

x 62 64 65 69 70 71 72 74
¥ 126 125 139 145 165 152 180 208
Or
(b) Calculate the rank correlation co-efficient for
the following data
x 55 56 58 59
y 35 39 38 42
PART C — (3 x 10=230)
Answer any THREE questions.
Using Lagrange's formula, find y(9.5)

x: 7 8 9 10

5 S.No. 7709

23.

24,

25.

Using Gauss Jacobi method to solve the following
system of equation :

10x-5y-22=3

4x-10y+3z=-3.

x+6y+102z=-3

Find y(0.4) by Adam's predictor-corrector method,

! dy x
from the differential equation d—z:?y when

¥(0)=1, y(0.1)=1.01, ¥(0.2)=1.022,y(0.3)=1.023 .

Calculate mean ¥ and standard deviation o from
the following frequency distribution.
x 109 8 7 6 5 4 3 2 1

i1 5 11 16 12 7 3 3 0 1

Find the two regression line equations from the
following data
x 62 64 65 69 70 71 72 74

y 126 125 139 145 1656 152 180 208

6 S.No. 7709



(7 pages)

S.No. 7710

(For candidates admitted from 2022-2023 onwards)

B.Sc. DEGREE EXAMINATION, APRIL 2024.
Part III — Allied
OPERATIONS RESEARCH
Time : Three hours
SECTION A — (20 Marks)

Answer ALL the questions.

L. (A) Multiple choice questions : (5x1=5)

1. In an Linear programming problem, function to be

maximized or minimized are called
(a) Constraint

(b) Objective function

(¢) Basic solution

(d) Feasible solution

2. The cost of a slack variable is
(@ 0 b 1
© 2 (d) -1

922 SCACMM 2 C

Maximum : 75 marks

(B)

=1

10.

Which of the following method is used to verify the
optimality of the current- solution of the
transportation problem?

(a) Least cost method

(b) Vogel's approximation method

(¢) Least cost method

(d) Modified Distribution method
Sequencing is a subset of

(a) routing (b) scheduling
(c) expediting (d) none

The number of time estimates involved in PERT
problem is

(a) 1 L 2
() 3 (d) 4
I'ill in the blanks : (5x1=5)

Linear programming problem that can be solved
by graphical method has constraints.

A linear programming problem have
optimal solution.

An assignment problem is a particular case of

Johnson's rule is used for

In a network diagram, an event is denoted by the
symbol

2 S.No. 7710



I1.

11

12,

13.

14.

15.

16.

Answer the following questions :

(5% 2=10)

Write the essential characteristics of operationg
research.

Define basic solution.

What is a rim condition in a transportation
problem?

In sequencing problem, what is the meaning of the
notations M, and T?

What is the expansion of EST and LFT?

(a)

(b)

SECTION B — (5 x 5 = 25)
Answer ALL questions.
Express the following LPP in standard form.
Maximize z =4x, +10x,
Subject to the constraints
2x, +x, <50

2x, +5x, <100
2x, +3x, <90

and x;, x, 20.
Or
Write the uses of operations research.

3 . S.No. 7710

17.

18.

(a)

(b)

(@)

Solve the following LPP by Simplex method :
Maximize z = 3x, +2x,
Subject to
X, +x,<4
Xy —xy 22
and x,, x, 20.
Or

Solve the following LPP by Charne's Big-M
method :

Minimize z = 2x, + 3x,
Subject to the constraints
X, + X, 25
X +2x,26
and x, x, 20.

Using VAM method obtain an initial basic
feasible to the following transportation
problem :

Supply
3 3 4 1 100
4 2 4 2 125
1 5 | 3 | 2 75

Demand 120 80 175 25

Or

4 ' S.No. 7710
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(b) Solve the following assignment problem :

1| 120 | 100 | 80 a0
fIJ.

2 80 90 110

3 | 110 | 140 | 120

19. (a) Solve the following sequencing problem :

Job : J] J_! J:l J‘ J:-, JU
MachineA: 30 120 50 20 90 110
Machine B : 80 100 90 60 30 10

Or

(b)  Solve the following sequencing problem :

Job : 1 2 3 4 5
Machine A : 5 1 9 3 10
Machine B : 2 6 7 8 4

5 S.No. 7710

20.

(a)  Find the critical path.

<
._),____

Or

()  Draw the network diagram for the following
A, B, C can start simultancously.

A<D B<G F; D<GF;C<L,
E<HK; F<HK;,GH<dJ.

SECTION C — (3 x 10 = 30)
Answer any THREE questions.
Solve the following LPD by simplex method :
Maximize z = x, + x, +3x,
Subject to

Wx, + 2%, +x4 €3

2xy 4+ +2x5 22
and x,, x,, x, 20,

6 S.No. 7710
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Apply graphical method to solve the LPP :
Minimize z = 20x, +10x,
Subject to the constraints

X, +2x, <40

3, +x, 230

4x, +3x, 260

and x,, v, 20.

23. Solve the following transportation problem :

21 16 | 25 | 13 | 11
17 { 18 | 14 | 23 | 15
32 | 27 | 18 | 4] 19
6 10 12 15

24. Solve the following sequencing problem :

Job : 1 2 3 4 5 G 7
Machine A : 7 8 6 6 7 8 5
Machine B: 2 2 1 3 3 2 4
MachineC: 6 - 5 4 4 2 ] 5
95 Draw the network and find the critical path :

Activity : 1-2 1-3 2-3 24 34 4-5
Duration : 20 25 10 12 6 10

(days)

-1

S.No. 7710
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S.No. 8071 T
(For candidates admitted from 2022-23 onwards)

U.G. DEGREE EXAMINATION, APRIL 2024.
Part IV — Environmental Studies
ENVIRONMENTAL STUDIES

Time < Three hours
PART A — (20 marks)

Answer ALL questions.

1. (A) Choose the correct answer : (5x1=5)

1. @pHunelles auplél siflan o arer wrblan
(21) GRITS (<24) GUEQEVGTEN

(@) <pdy GrGgen  (m) Gupg ekisnad

The most drought-prone state in India is

(a) Gujarat (b) Rajasthan

(¢) Andhra Pradesh (d) West Bengal

22 UGCES

Maximum : 75 marks

2:

Blp@eutsu Lsemn srpsd awlGs sremiubslapen
() Guig Qpr_irsd wenaar

(21) howwendhs Ggmi

@) zyeudel wenwgblgmi

()  @nb

Temperate evergreen forests are found in the

(a) Western Ghats  (b) Himalayan Range

(c) Aravalli range (d) Assam

cast ysplubn “Lssaflen UdagaTHE kG
S|ENDHGIETETE) ?
(=1) eopeilme (=) enGonal
(@) o557678 () weudl

The world famous “Valley of Flowers" is situated
in

(a) Nainital (b) Chamoli
(¢c) Uttarkashi (d) Pavri
BHEHHT BT

(31) wrenamullan ubaen

() Sblmsasden agby

(@) wnaflen G&TbY&E

() wrenenullen eTgubyy

2 S.No. 8071 T



The source of ivory is

(a) Tusk of elephant (b) Bone of whale

(¢) Antlersofdeer (d) Bones of elephant
@pHunelle oerer Qursg yellsdr sriusmisaie
cramenflésens

() 51 (<) 60

(@) s4 (F) 40

Total number of tiger reserves in India are

(a) 51 (b) 60

() 54 (d) 40

(B) Fillin the blanks: (5x1=5)
) 2&8  wrprl 1992 ————— Gl
B Qubms.

The earth summit 1992 was held at

e Wireuryellé® Qurgswrs ———— 2 dreang).
Biogas contains — | in bulk.

NOz wpmbd - - —  Sfle wvepew
s;,rjr;u@_g‘,g,jm.

NO:z and cause acid rain.

3 S.No. 8071 T

10.

11.

11.

12.

13.

14.

15.

grudoarps  Meustu  apanp

pen@wmuiiul Lg.
proposed integrated farming system.

vafls appsGELd updlu wrerGl ——— G

oL Glubpg.

Conference on Human Environment was held at

Answer the following questions : (bx2=10)

FHDIEELP CTEDTE eTeleT ?

What is environment?

yenguigel erfl@ummeTaer erammme eramen ?
What are fossil fuels?

2 GUT6Y GUENCLENI GUED TWIISHSELD.

Define food web.

2 6T T EenESEmeT CUETWIMISSED.
Define endemic species.
wraUBSSs@men uamTUnI&s.

Define pollutants.

4 S.No. 8071 T
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SHMFGRD @wulea slLawly  wLHHL

PART B — (5 x 5 = 25) 18. )
f Qewaur® und efers@s.

Answer ALL the questions, choosing either (a) or (b).

Explain about the structure and function of
16, (@) ae eoemmsd upflu  sEssworar  GHIOY '

Gesw@em. an ecosystem.
Give brief note on forest resources. Or
Or (<)) srpHm wrsUTLge sLELUUTLE pLeUysSaaaar
S i . upf eflardgs.
() sppéGwden preng LGHadt wremea ?
Al : y e f ir
What are the four realms of environment? leplaEn about Control measures of Air
pollution.
17. (@) efearées :
: 19, sgenanen chlard @ s.
D Pas Enfey (<21) “IDDW@W‘“ U ApsSHanan &
() 2970 Qusssb. Explain ecosystem diversity.
Explain : Or

(i) Land degradation

() woguii wAHlyser eremer?
(ii) Biomagnification.

What are the values of biodiversity?

Or
. Sl o it Grdian
(@) G Eftysmer aiphisayb : 20. (&) B wreurligen cSleneneyser eremen
Q) s Pase What are the effects of water pollution?
(ii) B Cgsan. ' Or
Provide short notes on : (<) HLssfajsen SEHOIES DN ereucun
(i) Deforestation unflédlenmen ?
(i) Water logging. How do solid wastes affect the environment?
5 S.No. 8071 T 6 S.No. 8071 T
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21.

22.

23.

24,

25.

PARTC —(3x 10 = 30)

Answer any THREE questions,
Ugsueassss GUETTIRI &G GTEm ey eTaian 7
SieuisEnLen Qgrirymiw Syéfemeanser erenen 7
What are renewable resources? What are the
problems associated with them?

Gpadlwed  GrhGsda wwHML Sge  wassmen
ahsHssT_Ha@EsLen efatsseayb.

Illustrate ecological pyramids and its types with
examples.

prorsur® updw ffauner GHuLsma Qardés.

Give detailed notes on water pollution.

&SHMIE @ LpeSlein Hlenaowires cuatigd) ubHd
efleundlasayid.

Discuss about sustainable development of
environment.

srofleow wrhpsde Qewagen wHmb wallg
Crrsflwgdle sigan umiens efleuflésay.

Elaborate the process of climate change and its
role in human health.

7 S.No. 8071 T
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(=) Qeavcud Hoewurew, sHYSLLWD GDSS!
HiwnT e juuaieuhenm eT(pSHisH.

(S{oeg!)

() enapravewuler Guaramwsameary YouuBiEs!s.

(=) Sausflpsroall - o Ghss Cewgsemen
THESTES.

(Sveg))
(<) SBSEDE — HIHEGIUUSE 5(HS-

ugs @ — (3% 10 = 30)

gaaCuab e lamésErs@ LLHW s
augeiler el s(mHs.

QuuareTiu@(mE uss — UTLDEBSGs&smear edlarsEs.

yopramhhe ampailud fdpsoarsd — sLHOT&EE.

Qur@mprrontueulla Cemppriiger  auerapld
aetiiyb Nss afleufl.

STyl ew - < Ssmrs SHSSHSMETS
Qengsaarss. _

éshsisaflar aurrpilear < Imis.

4 S.No. 8057

Time : Three hours
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22 LCT 4

(For candidates admitted from 2022-2023 onwards)

U.G. DEGREE EXAMINATION, APRIL 2024.
Part [ — Tamil
ueTeLw @Qesswib
Maximum : 75 marks
uEd < — (20 wdubueansedr)
SiMaTSHg NSTESEHES@GW e &(Hs.
Q) sflurer SlewLeows CosmpbsBss T(WEHS
(6 x 1=25)
Seoy eraip Qemevellerr QumBeT ereiner ?

(<) meny
(@ @b (M) Sigsd

(31) S

urgeldler wurnfesss gou peor GuriL afokig
TS ?
(=) yed (=) &M QLmerw

(@) wmrenar (/F)  er(ma
FETM LDBS(HSHD WMHOL W &L 67?7

() sHOS (<) Sm

(@) wae (F) Qamevever
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10.

IT.

11.

&&E v agnrg Qewdseeand Qewieui wimT?

(=) &Ppwéasdr (<) <=ipwHCpri
(Q) sdvengeur (rr), Guerwéser

Qerdertwsde assman HLHETIRISET 2 6Terer ?

(=) 5 (<p) 15
@) 3 (F) 9
(B) GCsmglL @Lmseer Hlyuys : (bx1=5)

LT EHESUEETeneT 6Teim Breny
W& @&Lb.

sooaua @dormowrd sl eupah GCumrar
Cure eu(mpdlenme.

geumiy Quarmgh ereriiu@ueu
CQuanser y,6uf.
QareLgsaiew 2L CurréEd CGoed 2 wss58
Anpts QBEGWD

psMré6  Cememeuenw  Quomlwieur
<D,GUTIT.

sioasg Namss@seh @fln auflsefld afla
5(H& . (5 x 2=10)

ST SmEsULLL  shger  wrsdear  Hlame
T etTEnT ?

unene Hlesg wIksET ereueury Gleubd Gphse ?

S.No. 8057

Q]

13. @i — efanssbd g5ms.

14. geoaiuier upsailen G Edler gemenw wng ?

ok
o

2sCsTH BlHmed eremred eremen?

LEd < — (5% 5 = 25)

SMeTHF NETESEEEED @ Lss Saalld el 5(ms.

16. (1) peoecilller srsd gausmss EnHEsT®SU
UM Q&E eull eT(pgis.
(Sjvg)

(<) poflenants senaell seravauaien augeney LHIESE

SITTERTID GTEITEN ?

17. (=) ureeauPllar geausest QuEprs@mGsn
uree aulfl youu@sals.

(SHdevg))
(<) rssiwssaneflurt urgeafllear s

ereucurm eumanflsgerermi?

18. (=) p@msrhnuubsen Spr s Qsudullenen
SISHramhml urLd eulfl Quibys.

(v gy)

(=) <Sipgeust  Ereusg — sraulLermt  &blu
APy TEMETS Fnms.

3 S.No. 8057
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(For candidates admitted from 2022-2023 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.

Paper II — English

SHORT STORIES FOR EFFECTIVE -4
COMMUNICATION
Time : Three hours Maximum : 75 marks
SECTION A — (20 marks) 5.

Answer ALL questions.
I. (A) Choose the correct answer : (Bx 1 = Bb)

j How was the little boy feeling while going to the
fair?

(a) Nervous

(b) Frightened

(¢) Sad and unhappy 6.
(d) Full of life and laughter

2. Hughie was when he heard that _
Trevor had told the beggar all about his private -
affairs. 8
(a) furious (b) amused
(¢) annoyed (d) begged

Why did the woman invite the narrator to lunch?
(a) She wanted to discuss her book with him
(l;) She wanted to show off her wealth

(¢) She wanted to borrow money from him

(d) She wanted to ask him for a favour

How much time did they take to repay the loan?
(a) ten years (b) two years

(¢) five years (d) six years

Which of the following essays describes a subject?
(a) Narrative essays

(b) Reflective essays

(c) Argumentative essays

(d) Expository essays

(B) Fill in the blanks : (5x1=5)
Hearing the cooing of , the child ran

towards his parents and dropped down the petals
in his hands.

Hugh had tried every profession

the narrator order for his lunch In
“The Luncheon”.

9 S.No. 8093



9.

10.

I1.

11.

The Loisels

wrote to that the
necklace had broken.

Report writing should always be done in
voice.

Answer the fo]lowing questjgns; (bx 2= 1(])

How did the child react when there was no sign of
his parents?

What kind of man was Hughie Erskine?

What were the things ordered at the luncheon?
How do they replace the neckl'ac‘e?

Write the importance of writing a precis.

SECTION B — (5 x 5 = 25)

Answer ALL the questions, choosing either (a) or (b).

16.

(a) How did the sight of a snake-charmer leave
the child spell-bound?

Or

(b) What is the theme of the story “The Mark of
Vishnu”?

3 S.No. 8093

18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

: 2
Why is Hughie described as ineffectual’

Or

Why did the author treat the photograph as a
bauble?

Write the summary of “Two Old Men”.

Or

What was going on in the narrator’'s mind
before the luncheon?

How did Matilda react when her husband
told her about the invitation?

Or

Discuss why Madam Forestier’s revelation at
the end is ironical.

Write the salient features of a good report.

Or

Read the passage carefully and write a

precise of the same in your own words. Give
the suitable title :

Recently, the National

Health Authority

(NHA) and the All India Transporters
Welfare Association (AITWA) have
announced a  partnership through a
Memorandum of Understanding (MoU). This
4 S.No. 8093
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7

partnership aims to provide healthecare
services to around 10 million truck drivers
under the Ayushman Bharat (AB)-Pradhan
Mantri Jan Arogya Yojana (PM-JAY). The
NHA and the AITWA will work together in
order to identify truck drivers and employces
of transport companies who are eligible for
the scheme. The Common Service Centres
(CSCs), which comes under the Ministry of
Electronics and Information Technology, will
work toward facilitating the verification of
drivers using the NHA’s Beneficiary
Identification System. This collaboration will
help thousands of eligible families access
in-patient care for serious illnesses at a
nationwide network of 19,002 government
and private hospitals empanelled under the
PM-JAY. After the verification, the eligible
drivers can get their AB PM-JAY e-cards at
the nearest AITWA Highway Hero Centres.
In the first phase, a pilot project will be
conducted at key locations under the AITWA
and the AB PM-JAY. This will be expanded
to other towns across the country. Eligible
drivers and employees of different transport
companies will be able to avail themselves of
the benefits after getting the PM-JAY cards.
NHA officials will work closely with the
teams of the AITWA and the CSCs to conduct
the drive to identify beneficiaries.

5 S.No. 8093

SECTION C —(@3%x 10 = 30)
Answer any THREE questions.
Write the themes of “The Lost Child”.
What did Hughie see in Trevor’s studio?
Describe the woman in the story, “The Luncheon”.

Discuss how did the Loisels get the money to buy a
new Diamond Necklace?

Write a letter to the principal of your school
requesting additional library facilities.

6 S.No. 8093
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(a)  Write a note on Tuple relational calculus.

Or

(b) Sketch Query by example with example.

(a) - List the Features of good database design.

Or

(b) Explain First Normal form with example.
PART C — (3 x 10 = 30)
Answer any THREE questions.

With a neat diagram, explain the structure of
Database.

Explain the structure of relational database with
example.

Discuss the different types of joins with example.

Iixplain the role of E-R diagram in Database with
example.

Elucidate Functional dependencies in detail.

4 S.No. 7158
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(For candidates admitted from 2022-2023 onwards)
B.Sc. DEGREE EXAMINATION, APRIL 2024.

Part IIT — Information Technology / Computer
Application / Computer Science — Major

DATABASE MANAGEMENT SYSTEMS

Time : Three hours Maximum : 75 marks

PART A — (20 Marks)
Answer ALL questions,
L. (A) Multiple choice questions: (5x'] =5)
1. ——— offers the ability to query the data and
sert, alter, and delete tuples.
(a) Transaction Control Language (TCL)
(b) Data Control Language (DCL)
(¢), Data Definition Language (DDL)
(d) Data Manipulation Language (DML)

2. How many join types in join condition?
(a) 2 by 3
(¢) 4 (d)y 5



]

:-"I

10.

_ functions returns Maximum value of
expression.

(a) Maximum (b) Max

(¢) Max all (d) Distinct

The entity relationship set is represented in E-R
Diagram as

(a) Double Diamond

(b) Undivided Rectangles
(¢) Dashed lines

(d) Diamond

By normalizing relations or sets of relations, one
minimizes

(a) Data (b)  Fields

(¢). Redundancy (d) Database

(B) Fill in the blanks: (5x1=258)
is a collection of data.

In relational database, data is stored in the form
of

—  is a unique value that identifies a row.

data type is used to store date and
time.

The overall structure of database can be
represented graphically using

2 S.No. 7158

I1.
11.

12.
13.
14.

16.

18.

Descriptive type questions: BGx2=10)
Define instance and schemas of database.

Define Relational Algebra.

Sketch the syntax for View.

List symbols used in E-R Diagram.

Define Normalization.

PART B — (5 x 5 = 25)

Answer ALL questions, choosing either (a) or (b).

(a) Write a note on Data base languages.
Or

(b) What are the drawbacks of file processing
- system?

(a) Recall Relational algebra operations with
example.

Or

(b) With Example explain modification of
database.

(a) Explain with example the different Set
operators in database.

Or

(b) What is Integrity constraint? Example.

3 S.No. 7158



19. (@) Draw and explain the emission spectra of

LED. S.No. 7730 22 SCACAP 2 A
Or
(b)  How does electronic watches work? Explain. (For candidates admitted from 2022-2023 onwards)
9 ' : . i . ' .
20. (a) Using op-amp how does differentiator B.Sc. DEGREE EXAMINATION, APRIL 2024
constructed? _
Or Part IIT — Allied
(b) OE};\I'J:;I;‘- the phase shifter circuit using | SPPLIET PEYSIOS I

PART C — (3 x 10 = 30)

Time : Three hours Maximum : 75 marks
Answer any THREE questions.

PART A — (20 marks)

21. Explain ]

(a) Hall effect in semiconductors Answer ALL the questions

(b) The action of backward diode. 1. (A) Choose the correct answer : (6 x 1=05)
22. With a neat sketch draw and ex_plain lthe DC 1. A semiconductor behaves at absolute zero

characteristics of CE and CB configuration of a

. ; ) temperature as

transistor.
23. Describe the construction and working of He-Ne (a) Conductor (] Tneulator

Laser. (¢) Semiconductor (d) Diode

24. Discuss the working of

2. region of the transistor is highly
(a) Photo diode

doped.
(b) Photo transistor. (a) Emitter
25. Explain the function of inverting and (b) Base

non-inverting operational amplifier.

(¢) Collector
(d) Both Emitter and Collector

4 S.No. 7730



4.

--'!

10.

The life time of atoms in the ground state in
stimulated absorption

(a) 1 second (b) 1 minute
(¢) 1 hour (d) Infinity

The band gap of the semiconductors used as LED
should be :

(a) 0.5eV ) 1eV

() 1.5eV ’ d) 1.8eV

The output voltage of an op-amp depends on
(a) Positive saturation

(b) Negative saturation

(c) Both Positive and Negative saturation
(d) Supply voltage
(B) Fillin the blanks : (bx1=5)

The Zener diode is used at ———— bias
condition.

In FET the current flow is due to ——M

only.

The active layer of ruby laser is

are used for fabrication of LED.

The resolution of analog to digital converter is

2 S.No. 7730

1.
11.
12.
13.
14.

15.

Short questions : (5 x2=10)
What is a Semiconductor? Give examples.

Write a note on transistor.

Define population inversion.

State photo conductive effect.

What is a differential operational amplifier?

PART B — (5 x 5 = 25)

Answer ALL the questions by choosing either (a) or (b)

16.

18.

(a) Distinguish between conductors, insulators
and semiconductors.

Or

(b) Explain the breakdown mechanism in
semiconductor diodes.

(a) Elucidate about h-parameters of a transistor.

Or
(b) Illustrate the construction of FET amplifier.

(a) Discuss the production of ammonia maser.

Or
(b) List out the advantages of LASER.

3 S.No. 7730
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(For candidates admitted from 2022-2023 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.
Part IV — Commerce — Non Major Elective

r

SALESMANSHIP

Time : Three hours Maximum : 75 marks

PART A — (20 marks)

Answer ALL the qtiestions.

I (A) Choose the correct answer from the
following: | (5x1=25)
1. Ceupdlaromer  eNhHueneaTUmeT(B&@ @ 6TMUELWITS
& HS| GTEOTET ?
(=) 2 aCrrésd () UEFTSHTLILD

(@) emHubm setepd  (F) CpSlLpallerenLo

What quality 1is essential for a successful
salesperson?

(a) Introversion (b) Empathy

(e) Indécisiveness (_d‘) Inflexibility



ts

2 ey aflpueaiuear Spinuiciry eTerer ?

<) (GHnEW s seueibd

(=) QeanQamiisd Qdaneo

(@) uvleussman warbHlene

(M)  BevL st sruuesiviy

What is a characteristic of relationship selling?
(a) Short-term focus

(b) Lack of follow-up

(¢) Transactional mindset

(d),

4

Long-term commitment
3. dpuearureri ellhuemarew apheuams Thss Glauwe
Qurgeurss @H&Hng ?
(=) Hops Caaallsmens Calug)
(=) U Csumans@héE (LpetT SET(EThH LI &En 6T
GULPMI(§G eV
(@) perenseer &(HSE
2 pELUESEIHD

(F) s Qgrfenu sellrliug)

e HueneTenl

Which action typically indicates a salesperson is
closing a sale?

(a) Asking open-ended questions
(b)  Offering discounts before objections

(¢) Summarizing benefits and confirming the
sale

(d) Avoiding eye contact
S.No. 8368 T

o

4. gefliul ellpuearée  ellpuenart YyCssip
ereueumm 2 g6 dlenmmer ?

(24) eflpuenen eumbuyseer s&_HUUBEEIGUE
ePeLD

(=) Sefs@er Curigenw HEsfNuusen aped

() euer @565 wLHMIL saeld HHweuHeHD
Cubu@ssicusen pped

(rF)  @sgIempunU 2assLU{HSSIeUSE APOLD

How do sales territories help in personal selling?
(a) By limiting sales opportunities

(b) By increasing competition within the team
(c) By optimizing resource allocation and focus
(d) By discouraging collaboration

5.  epumer ueL Hlieursssen WPe&Hw SHbsb eTaman ?
(=) G Qswddpanati ynéseatssd

(=) safluulL  srpemasaia  wIHGEL seuerd

AEZME LA

(&) eNpuenens @@G@fj’}@. s (Hsw WwHHID
SBHTMAU QUPRIGHD

() W @smHemplienu SealTiug)
3 S.No. 8368 T
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What is a key aspect of sales force management?
(@) lgnoring team performance
(b)  Focusing solely on individual achievements

(¢) Providing guidance and support to the sales
team

(d) Avoiding team collaboration

(B) Fill in the blanks : (b x1=25)
godluwrer QuUTmET SH6UOD GUPEIEGEE  WHMID
UMTgGEWTETT  seueasmear Heaursd  Geweug)
e pHuenarwimeriler @i NG
UGHWTGW.

Providing accurate product information and
addressing customer concerns are part of a
salesperson’s

elpuener GCewdperpullen wWpsed Ulg
Sh&LD.

The first step in the selling process is

flpuenenéd Gewedumiger Hleneyusmens)
BETEDEMET &(H&E, QUMTGEMSEWTETET 6T &S0 S,
UDLMISSHICUS 2 eTeTL &@&SImE).

The stage of the sales process involves
summarizing benefits and persuading the
customer to make a purchase.

4 S.No. 8368 T
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10.

I

11.

12.

vweyedrer  Gummer 2 gdla@rée  Qamirsdlumen
wHmib  wrHleymd  F64 eumiips
shenséE gHu  eumgdemswnear BlHuLEGETaseE
CoemauiL@Hpg.

Effective product strategies require continuous
and adaptation to changing market
dynamics and customer preferences.

pwenieTer  eSlpHuenarl uamL  Guenagmeawnss,
QeuefliueLgsemenio, CQumrmuyégamen W HmID
Wiy GeuBuudleyb Cswasaflgyb

srilenesamer senLUlligliug Sieudlwib.

Effective sales force management requires
transparency, accountability, and adherence to
standards in decision-making and

actions.

Answer ALL the questions. (6x2=10)
AN DHUGHET GTETMITED ETEHTENT ?

What is selling? N
UG  preyseiler  Gumgeurer  eurm@Gueu

Crnésmiser eree ?

What are common buyer motives in purchasing
decisions?

S.No. 8368 T
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13.  &fpuearnsa =2 Gauenarsener &N & WIITET 6 & 6hr
WeAwsgleusmss samy.
State the significance of handling objections iy
selling?

14. Spueear GgCgeibd GTELEN 6V & 6N EIT

QU WM &S ?

G‘FﬁJLJLq_

How can sales territory boundaries be defined?

15. dlpuererts uen Gueramawuiley GBdlpanmser ere
W&SWID ?

Why ethics 1is important in sales force

management?
PART B — (5 x 5 = 25)
Answer ALL questions, choosing either (a) or (b).
16. (=) Geupdlsywrer Gl H LI EH G TEIT (& (& GTGbT 60T
GRS jeuslwud, Cuaud eneu eTeleuTmy

dlpuenar QswddpenseE unkselsdearmer?

What qualities are essential for a successful
salesperson, and how do they contribute to
sales effectiveness?

Or

G S.No. 8368 T

18.

() puemer  edgipisdr smsdr  swriliyser
owg Craeuseear updlu  aprpenwine
yflsenas Caramamuug e psdluib?

Why is it important for sales professionals to
possess a thorough understanding of their
products or services?

(=) eShuene Qewdumige QUITIQ &HEN & WITETIT
, er@rurruysamer yflpg  Gsmeateug  gen
(P&SE WD TGS ?
Why is an understanding customer

expectation crucial in the selling process?
Or

(=) ufleuggeer smins  efbuemer LOHMIL 2 may
eflpuemanid  elpumer  euOQIBTET  SrisE
<DIEW(G) (LMW eTeleuT) WMHHlWeDES mTiTEeT ?

How do sales professionals adapt their
approach in transaction-oriented selling
versus relationship selling?

(=) @ udwu surfluy QeuelluSiyhsrer edfleuren

HLIEn 6T Sl ss 2 (HeUM&@GeusHaETaT
Lig&semeT cilemé@s.

Explain the steps involved in developing a
comprehensive sales plan for a new product
launch.

Or

7 S.No. 8368 T
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(= 3‘@ Hweearar  gwnrfliy euprisd  oidag)
7 o 1 : d
fwe  clasab  aNhueen Qaweapenmeni
qeueunm undladma ?

-

How does an effective product presentation
or demonstration influence the sales process?

19, (=0 dpueat GiGse Hicurssder Geraneanflude

LwueTar swimiliy o s&ldlaenen
o (aurs@eushaner wsSHw  uffaamearsaner
cSlené@s.

Explain the key considerations for creating
effective product strategies in the context of
sales territory management.

Or
(=) Gurmi elewew fliemubd wHoL 6Hhuener
QuU(HEU MW <2dsféEs Green 2 &&\&e
Lwetu @B ssliuB Elermer ?

What strategies are employed to ensure
competitive pricing and maximize sales

revenue?

20. (=) @uulSi® slLewblyser wLHmb  edlbhuemer
LenLsenar  esa&ssbsnamssaen  Hliamullé@n
Cung smsde Camdrer Ceouarmqus snyeilsamen
edlené (& s.

Explain the factors should be considered
when determining compensation structures
and incentives for sales force.

Or
8 S.No. 8368 T
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(e3,) aflhLenes @J}ujd;;‘,lgﬁ;m W HmLD r";];;,i_“j&j}ﬂ;%m.r
@u:ﬂiuﬁrljﬁl:ﬂ) -—34@'-31{ (SDITEITENID eTeret LIS,
uslaslma 7
What role does knowledge management play
in driving sales effectiveness and

performance?
PART C — (3 x 10 = 30)
Answer any THREE questions.

nuemauiey Qurgeurss sreruu@d U
cuenswW e edhusarwnarrsdr updl ebleund.

Discuss the different types of salespersons
commonly found in the sales. ~

»

elpueensd Gewoumigd - 2.6mer  eumMULLEE
yfpgQsrareugharar  (WP&SWLIST  HETIRISOE

Gﬁlméf,@.

Explain the important sources for understanding
prospects in the selling process.

pueer  euOYIBTSET Apueareow  ApbuL
epPeusH@Gh,  aumbuysailalmna 2 mAuuri L

e md Qeucusn@n eaar  2gdsam  LHHID
HILURIS®ET UwaTUhSSmD ?

{

What strategies and techniques can sales
professionals utilize to effectively close sales and
secure commitments from prospects?

9 S.No. 8368 T
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G‘tﬂﬂ)umsm CUEDIBAGHET GTUILIG. Feps DETL_GHRIGET OHM)LD
<2}, 60T 61 6L 60T SO IBI & 60 61T QUITULILI L & 6lT Feiy]1s]]¥s)
QUM EMSWTETTH@HL6T  CgmiryQarerer, o meysamer
o (HEUTHHAD, .~ SHHGUD yasdled  &llbHuenereni
& &MEsa D LweTUOSSH S DTiaer.

How do sales professionals utilize social media
and online platforms to engage with prospects and
customers, build relationships, and drive sales in
the information age?

safllulL  Gsrhpb  eumgsSmESWTeTiled  6TememTd
wLHML BLUSHSMW  eueTTULS®  ereTer  LMIE
uSISSmg).

What role does personal appearance play 1n
influencing customer perceptions and building
trust? :

10 S.No. 8368 T
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() ymdlos CerdRIEd @ enemniimen S0
Qe (PG!S,
(1) Content (i1) Ecology
(1) Provider (iv) Scream

(v) Reflection

u@ﬁ‘@——(BxlD:SU)

aaaGuaib apamesE sl o aigalld eleL 5Ga

21.

22.

23.
24.

25.

Lgissell e uller Carmmb euaTiTES GHEE!

&L_(hen&s.
poun Ougd  safluum dseflar  GuTGET@®DLE
SplQener aflars@es.

sigslb Hpsmsuller smssnpsms o HEH@TEE.
shews  Quiiurflér  umieauudle S(mé@SD@sLD

swflwrensu|b QLrmus.

slpréad Ceus.

Honesty means to be truthful for a person in all
the aspects of life. It involves to not to tell lie to
anybody, never hurt anyone through bad habits,
activities or behaviour. Honest person never gets
involved in the activities that are morally wrong.
Honesty is to not break any rule and regulation,
be in discipline, behave well, speak truth, be
punctual and help others honestly. Being honest
helps a person to get trust’ of all in the
surrounding lot of happiness, blessings -from
supreme power, and many more things.

4 ~ S.No. 8059

S.No. 8059

Time : Three hours

23 LGT 2

(For candidates admitted from 2023-24 onwards)

U.G. DEGREE EXAMINATION, APRIL 2024.

Part [ — sllp
sl @asdlu augern — 2
Maximum : 75 marks
UGS = — (20 wHubluarser)

Si@angg NamssEns@n e SHa.
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(5 x1=05)
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Casnhisser ?

(3f) WTeneTHET (<25) UDENGUSET

(@) PWesET ()  Quetr @ni@ser

flbens’s Curpri L s8H@ oy Cameilwiaui wmir?

(=) Gpw (<) @BSrm srbd
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10.

I1.

L1,
12.

13.

14.

15.

@rerLmb 2 @ss50) WIEIE eThiE HLb5g ?
(1) Wgeny (=) Ggemenen

(@) Smes () Gsmepa
Cunfle vweTu@R S smellmand &1 (s
(1) eumer (<) GuImed

@) e (F) seliemu

(=) Camgli @Lseamer Hlyciys. (6 x 1=5)

sblifler Camamdlu (psd s@bUE HID
S (&1D.

weapEt S @G USTSUIG
Ceplented cumulldsener BienL_Sge.

ssld Sgsasuid esstans @@L UTSSITD

gUggT  gremil @b BILSEZ®S  GTr(HSweur

Venerable crémugen s16pé Qg

Geneu@ptb  elenmss@rs @fls anisamssafld
eflenL &(hs. (6 x2=10)
2B51E — BlwEsTD 5.

858 apsH UL @aUIT prengullenr  Djewdlaer  ereucumy

GU(HemtTl S &) earmi ?

alLmag F eudtEraumEG @abss Cenfléms
GTEHTGHT 7 .

2w gafls Ganboml aaib sl Gagamw eipdue
Wi ? <pesr(p) 7'
2jafl, sl - Qummer Ceupunigenans H5s.

2 S.No. 8059

L@l <, — (5 x 5= 25)

Jinang eflenss@néGn @ Lss Sareild eflenl 5(ms.

16.

18.

19.

20.

(<31)

(<24)

(<32)

(<24)

(<4)

(<34)

(<31)

2 r @asdlwbd @Ghluy eumrs.

(B16vevg))
safiviur_é Src(h @hss e(pss.
ciyymseuflesr umedled Gauafliiu@ib
Gemhdlmseans @uibLs.

(<B1be051)
snerCsLiLeeufler 8ICawvan_s&lmenais
HeouLhE8)5. .
urgdlsmeer EmiSen5en Gleuafludled
D60 PESSDHTE SN JEmTD S s,

(Si6vevgy))
S111p LD GEOT 61 60T &5 &T5S Goueig w6
Slaudlugemns (1p.al. HigssEer aulfl 2 aurisss.
Caummawsarfl -  SeguuLser szl
QUIm(RERTEO G CT(LHSIS.

(Sjebevg))

uflflord seaeflar sblpGLmAL  Lbhbdlaner
@ uibiys.

Qemer Ceumim(® 2ibls.

(1) eugy — @y

(1)  aumfl - eumafl

(1) eupriLb — eeTiLLD

(iv) eufl - euafl
(v) euded — auerefl
(B1cvevgy)
3 S.No. 8059
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19.

20.

21.

22

23.

24.
25.

(a) Write the difference between present ang

future tense.
Or

() Discuss the formula of future perfect
continuous tense.

(a) Explain the process of making a memo.
Or

(b) Discover structure of drafting an email.
PART C — (3 x 10 =30)

Ans;ver any THREE out of Five questions.

What is Rip Van Winkle’s most important problem
at the beginning of the story?

Identify and illustrate the types of imagery used
in D. H. Lawrence’s “The Snake”.

Write a brief note on the settings of How Frog
went to Heaven.

Explain concord with examples.

Draft an email to your employees about the
meeting which is to be held in your department
and send CC to your Manager.

! S.No. 8095

S.No. 8095

Time : Three hours

—

23 ELGE 2

(For candidates admitted from 2023-2024 onwards)

U.G. DEGREE EXAMINATION, APRIL 2024.
Part I — English
GENERAL ENGLISH

Maximum : 75 marks

PART A — (20 marks)
Answer ALL questions.

(A) Multiple choice questions. B x1=15)

Who among the following authored the poem
“Still Here”?

(a) Langston Hughes
(¢) Jimmy Osborne

(b) Edgar Allan Poe
(d) Lord Byron

The story The Lady or The Tiger, begins with
whom? :
(a) civilian

(¢) servant

(b) king
(d) knight

~ Who is an Indian engineering teacher and author

in Kannada and English?
(a) Arundhathi Roy
(¢) Sudha Murthy

(b) Kamala Das
(d) Anita Desai
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Two roads diverged in a —-—-——-—wemh y

She wakes up early in the morning, find the m
of the sentence.

(a) concord
(c) future

(b) past
(d) present

What is a method of transmitting and receiving
messages using electronic devices? :

(a) e-mail (b) e-search

(c) e-commerce (d) e-shopping

(B) Fillin the blanks: o

According to Edgar A. Guest, When the
low and debts are

Kalam grew up in
TamﬂNadu, India.

14,

15.

16.

i

18.

What is a moral of the story How I taught my
grandmother to read?

Explain structure of framing sentences in present
tense.

Discuss the contents included in making a
circular.

PART B — (5 x 5 =25)
Answer ALL questions.

(a) What does the poet suggest domg instead of
quitting?

Or

(b) Discuss writing style of Edgar Guest in
Don’t Quit.

(a) Describe the two roads that Robert Frost
comes across.

Or

(b) Write themes Robert Frost used in T?w Road
Not Taken.

(a) What is the summary of Wings afﬁ-ﬁii-e?

(¥ Scanned with OKEN Scanner
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(For candidates admitted from 2022-2023 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.
Part III — Professional English

PROFESSIONAL ENGLISH FOR PHYSICAL
SCIENCES -1

e

Time : Three hours Maximum : 75 marks

PART A — (20 marks)
I (A) Choose the best answer: (5 1=5)

1. When you leave a message in someone’s voicemail,
what is most important?

(a) Say the date and time

- (b) Say your telephone number
(¢c) Ask to call back
(d) Ask not to call back

2.  Role-playing scenarios should include
(a) only historical events and settings
(b) only the physical setting the actors will work
within
(c) only the situation the actors find themselves
in

(d) the setting and situation the characters are
experiencing



.CJJ

Which of these must be avoided in a group

discussion?

(a) Speaking facts

(b) Asking questions

(¢) Speaking fast

(d) Speaking with clarity

Person who does not believe in the existence of
God:

Heretic

(a) Theist (b)

(c) Atheist (d) Fanatic

What is the

advertisements?

purpose of repetition in

(a) To confuse the audience

(b) To

familiarity

emphasize key points and create

() To distract the audience from the main
message

(d) To
advertisement

decrease the

effectiveness of the

2 S.No. 8104

—3

-]

9.

10.

L.

11,

12

13.

(B) Fill in the blanks: (5% 1=5)

Fill in the blank using suitable question tag :
We won’t be late, -

Fill in the blanks with a linking expression
I learned Spanish be able to find a job

during my stay in Spain.

Fill the right voice in the blank : The teacher
the students to be careful.

Fill in the blanks with the correct modal verb :
According to the weather forecast, it
snow heavily tomorrow. (may/shall)

Fill in the blank with the suitable expression : “If
you'd rather not go tomight, thats —— to

»”

me.
Answer the following questions. (6:%2="10)

Define Prefix with examples.

Explain the difference between structured and
unstructured role play.

How can listening to inventors contribute to
understanding the challenges and opportunities
within their respective fields?

3 S.No. 8104
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14.

15.

16.

What are the potential drawbacks of multitasking

while listening to a presentation?

Discuss the significance of using active voice

rather than passive voice in simple sentences.

PART B — (5 x 5 = 25)

‘ Answer ALL questions, choosing either (a) or (b)

(@)

(b)

i each.

You have recently completed an internship or
work placement and want to send a
thank-you letter to -your supervisor or
mentor. Write a letter expressing your
gratitude for the opportunity, summarizing
what you have learned, and expressing your

interest in staying connected.
Or

You have completed a project or milestone
and want to update your supervisor or team
email. Write an email
accomplishments,

members via
summarizing your
highlighting key outcomes, and expressing
appreciation for any support or collaboration.

4 LRNA 104

2

17,

(a)

Read the following passage and answer the
questions given below:

The water cycle begins with the process of
evaporation, in which water from oceans,
lakes, rivers and other bodies of water is
heated by the sun and changes from liquid to
vapor form. This water vapor rises into the
atmosphere, where it cools and condenses to
form clouds. Condensation oceurs when water
vapor molecules come into contact with cooler
air and change back into liquid droplets.

When the droplets in clouds become large
enough, they fall to the Earth's surface as
precipitation, which includes, rain, snow,
sleet, and hail. Precipitation replenishes
bodies of water such as rivers, lakes, and
groundwater reserves, completing the cycle.
Some precipitation flows over the land as
runoff, eventually returning to the oceans
and restarting the cycle.

The water cycle is essential for sustaining life
on Earth and supporting ecosystems. It
regulates the distribution of freshwater
resources, provides moisture for plants and
animals, and helps to regulate the Earth’s
climate by transporting heat around the
globe.

5 S.No. 8104
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(b)

Questions:

(1) What is evaporation, and where does it
occur?

(1) Describe the process of condensation.

(1) Why i1s the water cycle important for
sustaining life on Earth?

(iv) Name some materials commonly
recycled.

(v) What are the economic benefits of
recycling?

Or

Read the following passage and answer the
questions given below:

Bees are one of the most important
pollinators in the world, playing a vital role
in the reproduction of flowering plants and
the production of many fruits, vegetables,
and nuts. They accomplish this by
transferring pollen from the male parts of
flowers to the female parts, facilitating
fertilization and the production of seeds.

In addition to their role in pollination, bees
also contribute to ecosystem stability and
biodiversity. They serve as food sources for
other animals, including birds and mammals,
and play a crucial role in maintaining the
health and productivity of natural habitats.

6 S.No. 8104

However, bees face numerous threats,
including habitat loss, pesticide exposure,
climate change, and diseases such as colony
collapse disorder. These threats have led to
declines in bee populations worldwide,
raising concerns about the future of
agriculture and ecosystems.

To address these challenges, efforts are
underway to promote bee conservation and
sustainable bee keeping practices. This
includes protecting and restoring bee
habitats, reducing the wuse of harmful
pesticides, and raising awareness about the
importance of bees and other pollinators.

Questions:

(1) What role do bees play in the
reproduction of flowering plants?

(1) How do bees contribute to ecosystem
stability and biodiversity?

(iii)) What are some of the threats facing
bees? *

(iv) What efforts are being made to address
these threats?

(v) Why is bee conservation important for
agriculture and ecosystems?

7 S.No. 8104
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18. (a)

(b)

Change the following active voice into passive

voice:
(1) The man dropped his axe into the river.
(i1) The bird was shot by the naughty boy.
(iii) The bag was found by me.
(iv) Natasha lost the money.
(v) The farmer will plough the field.

Or

Change the following passive voice into active

voice:
(1) The race was won by William.

(1) New schools are being built by the
government.

(111)) Two hamburgers have been eaten by

Steven.

(iv) The soup is cooked every week by my
mother.

(v) A new product will be launched by my
company.

8 S.No. 8104

19.

P

a) The bar graph shows the estimated number
of vehicles taken out of production due to
microchip shortages as of May 2021.

The US. Car Models Worst Hit
By The Microchip Shortage

Estimated number of vehicles taken out of production due
to microchip shortages (as of May 2021)

109,710 e
81,83 f

9

o]
w
o0

-—h
@
w

r
%%%56.929 .

A A B bz 46786 42495
ey
ZRZR N N R R

Ford Chevralet Chevrolet  Ford Jeep Ford Ford
F-series Cherokee Equinox Malibu Explorer Compass Edge  Escape

Questions:

(1) Which model was hit the hardest by the
microchip shortage?

(i1) How many vehicles did Ford take out of
production?

(i1) How many vehicles did Chevrolet take
out of production?

(iv) How many more Ford vehicles have been
taken out of production than Jeep
vehicles?

(v) What percent of the worst-hit models
were made by Ford?

Or

9 S.No. 8104
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(b) The bar graph shows the rise and fall of CD
album sales in the US since 1983 in millions.

The Rise and Fall

of the Compact Disc
CD album sales in the United States since 1983,
(in million units)

1,000 m
800 m \

600 m
400 m
200 m

om
1983 19890 2000 2010 2021

Questions:

() What is the mode of the data and when
did it occur?

(i) During which time periods did CD sales
break 600 million?

(i11) About how many more CDs were sold in
2000 than in 1990?

(iv) Calculate the percent decline in sales
from 2000 to 2020.

(v) Give a suitable title.

10 . S.No. 8104

20.

21.

23.

24.

25.

(a) Draft an essay on the issue of test anx1et}i
and its detrimental effects on students
performance in exams.

Or

(b) Draft an essay on how students effectively
manage their workload and maintain a
healthy work-life balance.

PART C — (3 x 10 = 30)
Answer any THREE questions.

Analyze the role of reading short passages in
developing critical thinking skills.

Define Mass Communication.

Draft an essay on the use of pesticides in
cultivation.

Explore the impact of effective slide transitions
and animations on the overall flow and coherence

of a short speech delivered through a PowerPoint
presentation.

Explore a motivational story that showcases the
transformatiye power of continuous learning and
skill development in career progression.

11 S.Na. K104
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19.

(a) Discuss the importance of the final keyword
in Java. Provide examples to illustrate its
usage in classes, methods, and variables.

Or

(b) Explain the difference between checked and
unchecked exceptions in Java.

(a) Desecribe the concept of method hiding in
Java and provide examples to demonstrate
how it differs from method overriding.

Or
(b) Explain the concept of primitive data types
in Java. Provide examples of different
primitive data types and their uses.

SECTION C — (3 x 10 = 30)
Answer any THREE out of Five questions.

Explain the principles of object-oriented
programming (OOP) in Java.

Explain the Constructor Overloading in java.

Discuss the single and multi-dimensional arrays
and their usage.

Explicate the Method Overricﬁng with an example.

Discuss the JDBC and CRUD Operations.

4 S.No. 7133

S.No. 7133 22 SCCCA 2/22 SCCCS 2/
22 SCCCYS 2/22 SCCIT 2/
22 SCCSD 2

(For candidates admitted from 2022-2023 onwards)

B.C.A./B.Sc. DEGREE EXAMINATION, APRIL 2024

Part 111 — Computer Application/Computer
Science/Cyber Security/Information
Technology/Software Development — Major

PROGRAMMING IN JAVA
Time : Three hours Maximum : 75 marks
SECTION A — (20 marks)

Answer ALL questions.

L (A) Multiple Choice questions : (5x 1=05)
1. In Java, which class is wused for string
manipulation?
(a) String : (b) StringBuilder
(¢) StringBuffer (d) Math
9. Inheritance in Java is achieved through which
keyword?
(a) extends (b) implements
(¢) super (d) final
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10.

What is polymorphism in Java?
(@) The ability of a class to have multiple
constructors

(b) The ability to create objects of different
classes

(c) The ability of a method to have multiple
definitions

(d) The ability to access private members of a
class

Which access specifier allows a class or method to
be accessible only within the same package?

(a) public (b)
(c) protected (d)

private
default

Which keyword is used to handle exceptions in
Java?

(a) throw (b) catch

() try (d) finally

(B) Fill in the Blanks : G x 1=5)
A is a blueprint for creating objects

in Java, defining their properties and behaviors.

Java packages are used to organize and group
related classes and provide control.

A _ : is a special type of method in Java
that is called when an object of a class is created.

In Java, an array is a data structure that ca
store multiple values of the same I
The charAt(int index) method is used to access a
specific character in a Java

2 S.No. 7133

i,

3.
12.
13.

14.

16.

18.

5 x2=10)

Descriptive Questions :
What is an object in Java?
y ; 3 . cn D
What is the purpose of using packages in Java’
‘xplain the difference between a default
constructor and a parameterized constructor.
How do you declare and initialize a one-
dimensional array in Java?

What is the difference between equals() and ==
when comparing strings?

SECTION B — (5 x 5 = 25)
Answer ALL questions.
(a) Explain the concept of platform

independence in Java. How does the Java

Virtual Machine (JVM) contribute to this
feature?

Or

(b) Describe the differences between a class and
an object in Java.

(a) Explain the purpose of constructor methods
: in Java.

Or

(b) Compare and contrast one-dimensional and
two-dimensional arrays in Java.

(a) Describe the significance of the this keyword
- in Java classes.

Or ‘
(b) Discuss the concept of dynamic arrays in
Java using the ArrayList class.
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(6 pages) @
S.No. 7709 22 SCACMM 2 B 3.  In Runge Kutta-II order method K, = é
o
(@) hf(x,~h) (b) h f(x,_}mh,yo —kl) £
(For candidates admitted from 2022 — 2023 onwards) (c) h.f(xO +h, ¥, +k1) (d) hf (xo,yr) %
X J =
B.Sc. DEGREE EXAMINATION, APRIL 2024, 4. Median of 40, 90, 61, 68, 72, 43, 50, 84, 75, 33 E
Part ITI — Allied @ 75 &) 645 =
NUMERICAL ANALYSIS AND PROBABILITY © 90 @ 33 6
Time : Three hours Maximum : 75 marks 5. If E(X+C)=10 and E(X -C)=6, then the value of
PART A — (20 marks) C is
Answer ALL questions. @y L (b) 2
I. @A) Chodse the best answer. (5 x1=5) (c) é— (d) 0
1. In Newton Raphson method if. the curve f(x)is (B). Fill in the blanks:- Gx1=5
constant then : x 1=5)
6. A=
(@) [f(x)=0 (b)- f'{x)=¢c
© f'(x)=0 (d) f'(x)=0 7. Simpson’s -;- rule =
2.  In Gauss Elimination method, original equations 8. In Gauss Elimination method, the co-efficient

are transformed by using matrix is transformed to ——— form.

Col i
8) Column operations 9. If X and Y are independent, cov(X,Y)=

(b) Row operations

(¢) Mathemati '

(c) _ athematical operations 10. The equation of regression line of x on Yy is
(d) Subset operations

2 ' S.No. 7709



I1.

§ 2

12.

13.

14.

15.

Answer ALL questions. Bx2= 10)

Write Newton's forward difference interpolation
formula.

State the condition for convergence of Gauss
Seidel method.

Write Milne's corrector formula.

Write any two merits of mode.

State Spearman’s formula for Rank correlation.
PART B — (5 x 5 = 25)
Answer ALL .-qmﬁm.

(a)

1 e
1. () Bvaluate [ Fd:-f N Dindsidat nle

“fith h=0.2:

(¥ Scanned with OKEN Scanner

(b)
3x+4y+52=18
2x-y+82=13
18. (a)




21.

() A random variable x has the following
probability distribution.

x: -2 =1 0 1 2 3

-

Px: 0.1 0.1 02 02 03 0.1

Find E(X), E(X?) and Var(X).

(a) Calculate the correlation co-efficient for the
following data :
X 62 64 65 69 T0 T1 72 T4
y 126 125 139 145 165 152 180 208

Or

(b) Calculate the rank correlation co-efficient for
the following data
% 85 . b6 68 a9

y 35 39 38 42
PART C — (3 x 10 = 30)
Answer any THREE questions.
Using Lagrange’s formula, find y(9.5)

¥r: T8 B:10

5 - S.No. 7709

22.

23.

24.

256.

Using Gauss Jacobi method to solve the following
system of equation :

10x-5y-2z=3

4x-10y+3z=-3.

x+6y+10z=-3

Find y(0.4) by Adam’s predictor-corrector method,

from the differential equation g@;ﬂ when

X
$(0)=1, (0.1)=1.01, ¥(0.2)=1.022, (0.3)=1.023 .

Calculate mean ¥ and standard deviation o from
the following frequency distribution.
2 10 9 8B 0 w8  BEAAS L2

N TN < ) SR - SR A S e R

Find the two regression line equations from the
following data
x 62 .64 65 69 70 G2 TS

y 126 125 139 145 165 152 180 208
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b 22 SCACMM 2 ¢ 3,
; For candidates admitted from 2022-2023 onwards)
- B.Sc. DEGREE EXAMINATION, APRIL 2024,
' Part ITT — Allied
OPERATIONS RESEARCH
E o 1 ' .
‘ A Maximum : 75 marks i
5.

g% 1 =.6) :

1, function to be *‘S&J S5

Which of the following method is used to verify the
optimality of the current solution of the
transportation problem?

(a) Least cost method

(b) Vogel's approximation method

(¢) Least éost method

(d) Modified Distribution method

Sequencing is a subset of

(a) routing (b) scheduling

(¢) expediting (d) none

The number of time estimates involved in PERT
problem is ]

) ®) 2
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~ Answer the following questions :

Whaﬁ 13 the‘-.eix;aansion of EST and

(52 =-';1-0}-

Write the essential characteristics of operatlﬁnfﬂ
research. =Y

Define basic solution. : : :--,; »

What is a rim condition in a transportatmﬁ%

problem? | , r@{’
I:; sequencing problem, what is the meaning Ofﬁj%'%

otations M, and T?

SEG’HON B—(6x5= 25)
AnswerALL Questmns. _

17,

18.

(a)

(b)

(a)

Solve the following LPP by Simplex method :
Maximize z = 3x, + 2x,
Subject to
X +x, <4
X — %, S2
and x;, x, 20.
Or

Solve the following LPP by Charne’s BJg-M
method :

Minimize z =2x, +3x,
Subject to the constraints
X, +x,25
X +2x,26
and x;, x, 20.
Using VAM method obtam an initial basic

feasible to the transpmtatlm&
problem :

(¥ scanned with OKEN Scanner



! 90, (a) Find the critical path.

& 8

LR e

2 2| 80 | 90 110

Or 2

120 ;
; (b) quev the network diagram for the following
- A B Ccan start simultaneously. .

. A<DI;B<GF;D<GF;C<E
E<HK; F<HKGH<J.

fld

SECTION € — (3 x 10=30)

(¥ Scanned with OKEN Scanner



22. Apply graphical method to solve the LPP :
Minimize z = 20x, +10x,
Subject to the constraints
x; +2x, <40
3x, +x, 230
4x, + 3x, =60
and x;, x,20.

23.  Solve the following transportation problem :

o1 el 26 | 18 | 11
AT 384341 28 113
321 2% 181 41 19
6 (o SR S

24. Solve the following sequencing problem :

Job : 1 2 3 4 5 6 7
NMoimeh: 78 6 6. T -8 fe
Machine B: 2 2 1 o M 2 4
Machine C: 6 5) 4 4 2 1 ;
25. Draw the network and find the critical path :

Activity : T PR Nt T S W T T
Duration : 20 25 10 12 = 10

(days)

7 S.No. 7710
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(7 pages)
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(1) CwpeE QsmLrEs waaser

(<)) @wuwiamead Qgmir

(@)  reucedl e@gblgmLir

U.G. DEGREE EXAMINATION, APRIL 2024. b s

(For candidates admitted from 2022-23 onwards)
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Part IV — Environmental Studies Temperate evergreen forests are found inthe .

(a) Western Ghats (b) Himalayan Range

ENVIRONMENTAL STUDIES
(¢) Aravalli range (d) Assam
Time : Three hours Maximum : 75 marks
3. 2wosl yspPupy “yssellar udTaTssTEG TRIEG
PART A — (20 marks) SN DHGlETETS) ?
(1) empeaflmed (=) erGiomell
Answer ALL questions. (@) 2557818 ()  weu
I {A)Ehiooge the earmbt answer: 6 x 1=5) ’il;lhe world famous “Valley of Flowers” is situated
1. @idwureier eupldl sidlen o arer wrblen (a) Nainital () Chamoli
(S1) GRTTS (<24) TTE GV ST (¢) Uttarkashi (d) Pavri
(@) pdy QrGged () GCuhE eumisTand 4. pissdar s

(<) wrenerullenm LHSET

(<) Subitissden erauibyy
(@) wreflear AembLser

The most drought-prone state in India is
(a) Gujarat (b) Rajasthan
() Andhra Pradesh (d) West Bengal

(/)  wreneruslen eTeyLbiy

2 S.No. 8071 T



~(B). Fill intheeblanks:

.-g,uﬂ M«ﬂ mugmr@ 1952

The source of ivory is
(a) Tuskofelephant (b) Bone of whale
(¢) Antlersofdeer (d) Bones of elephant

Qpduwnelles serer Qurss yelser smiushsalen
aaneflsans

]

(1) 51 (<) 60
@) 54 " (FF) 40
Total number of tiger reserves in India are
(@ 51 (b) 60
© 54 @ 40

10.

IL.

11.

12.

13.

SEESD@Hs
penGumuiul L g.

proposed integrated farming system.

walls sOmE@wd uhBlu wrErG —— G
peLGUHDE.

Conference on Human Environment was held at

Answer the following questions : (5% 2=10)
: y

EMHMIEGLPE) CTEIMTE) GTEITE ?

What is environment?

gLy 6l snﬂ@uar@masdr GTEpIE Eremen ?

What are fossll fuela"‘

2 awiey mm&mmm m‘mg\ug_

Deﬁne ﬁ?.‘ W@bﬁ

ofleusmy  apeom :

i
(¥ scanned with OKEN Scanner




PART B — (5 x 5 = 25)

Answer ALL the questions, choosing either (a) or (b).

16.

(<)

(<)

QUElT  GUETHRISET

updlw  smésorar @D
Car®és. = R

Give brief note on forest resources.

Or
sHmESelar prang LEGHser Wreme ?
What are the four realms of environment?
eflené@s
O fpeos frfey
(1) Wil QuEpEsLb.
Explain :
(1) Land degradation

(1) Biomagnification.

Or
Go&Sw GOluLsmeT aipRIGaYLD :
(1) s flssa
(1) i Caésib.
Provide short notes on :
(1) Deforestation

(11) Water logging.
5 S.No. 8071 T

18.

19.

20.

(<)

(<34)

(<24)

(<)

(<24)

EOMEGPD Simwlubed s Lawliy WwHmID
Ceweun® updl efarsss.

Explain about the structure and function of
an ecosystem.

Or

STHY OI&GUT g6 L HUUT’() BL el SnsseT

undl allerd@s.

Explain about Control measures of Air
pollution.

FONEGHLD LaTpssSeTannaniL ehlardEs.

Explain ecosystem diversity.

Or
LUl w&lliyser ereme ?
What are the values of biodiversity?
B wraurger efleneateyser eranen ?

What are the effects of water pollution?

Or
&DDIEG P

SLss floyaar GTUGUTM)

Ll & ermen 2

How do solid wastes affect the environment?

* 6 S.No. 8071 T
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22.

23.

24.

25.

PART C — (3 x 10 = 30)
Answer any THREE questions.
UgIU96655568 GU AT TR & 6T GTEOTDITED GTGOTET ?
SauirsErLer GgrLiyeLw Syéslamanser ereme ?

What are renewable resources? What are the
problems associated with them?
Gwdlwe WrllHsdr WLHML ST CUMEHMET
T (HS&I6STL_ (D& EHL 6T 6laTésHa L.

Illustrate ecological pyramids and its types with
examples.

Bioraur® updlu ellfeurear @olluisamer Cer(Hés.
Give detailed notes on water pollution.

&1 1) & @Lp 0l 6t Beneowrer  cueTT&s) bl
afleumdlEsayLb.

Discuss about sustainable development of
environment.

snoblene wrHDsHear Gewdapap wHHID wels
2, Crrsdlugdler gen Lmians ileuGsHeyLb.

Elaborate the process of climate change and its
role in human health.

7 S.No. 8071 T
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S.No. 8057 22 ILCT 4

(For candidates admitted from 2022—2023 onwards)

U.G. DEGREE EXAMINATION, APRIL 2024.
Part I — Tamil

L&oTem L @)ev &l wib

Time : Three hours Maximum : 75 marks

H&GH <21 — (20 wH LG LIGHTSHET)
DTS G N GTT&ES(eh& @G el F(H.

I. A)  sfllwurer alenLewws CorpsB S TURSHIS :
(5 x 1=5)
1. Sleng erettm Glamevedlerr GUMIHET GT6tTENT ?
(1) <Bemev (=2p) HIe®T
(@) @ebTLILD (FF) <B|&&FID
2. umgefluderr wriflensse gnHu peor. Gumie &Slewnis
T ?
(1) yedl () STLQL_(HemLo
(@) wimenerr (FF)  eT(HGl
3. FeTM LMbBS(HSED WIM(HEDL U &L 68T ?
(=) smi

() HBHMS

(&) sesr (rr) Q& mebevesr



:x]

10.

IT.

11.

SW&E U aurng Gewdseamerd ClFuieum WM ?
(<=4) SipwHEoT

(<31) SDWESET
(rr) QGeTn&&6ET

(@) sversaurr
QorevsrinGusgHe TSSmeT SIS STTRIGET 2 GTeT6T ?

(<=24) 15
(rF) 9

(<=4) 5
@) 3

B) Csmgl L @Liuseamer Hlrlys :
Ve (GH(HGSUILEGleTenaT 6resTml [HITen

(5 x 1=5)

LOIH) & (&L -
SeowaueT @drenwnd smeal eumeT( CGumrest
Gumev au(HBS eoTmerT.

-

psieuml  GuetrigdH ereTuiLGlueuT
QI LIGTITHGIT <24, GUIT.
Q& TenL_&S6iTen LD o avL_Guimirse  Gued 2 LSS5I

SopCs @ (H&EGSLD

Gsreneuenw Quipodluieurr

DL, EMTS

<DL GUITIT.

DTS GSlETTSES(@HESD el euflsailed allenL
H(HS : (5 x2=10)
DIGUERTITE)  SDIMUSSIUL L. FhHSET wrsSHer  Hlemew
GredrenT ?

Lmeney Hlevggl LOTMHIGET GTEUGITD) Qoubl9 @)\ (BHS 6T ?

2 S.No. 8057



13.
14.

15.

bbb — SleaT&sb S(HS-

seneaidluler umseaflenL Gui Bilerr sesTend WIMGI ?

<IDS5CHTH FHMED GTETMITEL GTETET ?

LGS <=, — (6 X 5 = 25)

DimaTSG NlETTESE@HSGD R(H L&ES Daraild ailewl S(HS-

16.

18.

(21) sewvadluller &MH HGTUSHSS (SMHOSTEMS

(<=24)

(=21)

(<24)

(<)

(<2b)

LIML_6L&ET eULPl eT(LDSHIS-
(<ievevGI)
BHMemenTd Semawad SeneeaUaileT aIFenel LOMI&ESS

SITFEO0TLD GTGoTaoT ?
ureneveuNulerr  gGetugsangsls  CumprishirGsm
ured auldl HeolluBSsls.

(Sievevgl)
@i_gg;rrmésasamswﬂu_rrrr'r L mig-eofl uSl 6ot DLPMS
cTeuGUTm GU(HewilSHI6TaTmir?
WPpBSTOHMLILBE&EGSD Slpr Ghlss Glauid ullen et
SDIGHTETHMILT LT auLdl @uibLys.

(b g))

SipgieleT  ST@ISE
DM QYN THENETSH Fo ).

&MU L_L_GOTITIT FaMlul

S.No. 8057




SO SS!

19. (=) Qscveud Hlemweowimenio, &MHL|eNL_GOLD
BTGV Lg- WL ITIT o enyliLaTeUHen D eT(LRHIS-
(Sievevgl)
(<) STETDITEITEn LOUSl 66T Qioeientosene Tl Lol bhiSSIS-
20. (=) Sousfpsroemil — BHIO (GSDSS Qeu1H &6 6T
THSHIHTHS.
(Sicvevgl)
(=) HBSEDET — BrHGOIHS SHS-

LS @ — (8 % 10 = 30)

cremauGuignib epetml NGTTSS @@ LOL-(HILD sL_(HenT
cug eiled eflenL H(HS-

QeUGETETTRIE(HES LSS — UM DS (HSSISHSHEnET &S 6T (55

21.
22. yppreprbmed eumpaliluicd SpsenerseT — SL(HENTEHS.
23. Qum@prmHoliuenL_uSled Gampmbm_1g 65T GUGT(LPLD
cuaTLiL b &MISH eSleul.
24. < 6TL{EHL_ENLD — DNH&TTS &(HS B HEOETS
QB T&HS5SH O T&HS.
25. @p&srasmisailer eugeomboleneT <,rmils.
S.No. 8057
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(6 pages)
S.No. 8093 22 ELCE 4

(For candidates admitted from 2022—-2023 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.
Paper II — English

SHORT STORIES FOR EFFECTIVE
COMMUNICATION

Time : Three hours Maximum : 75 marké

SECTION A — (20 marks)

Answer ALL questions.

1L, (A) Choose the correct answer : (5x1=5)
: I How was the little boy feeling while going to the
fair?

(a) Nervous

(b) Frightened

(c) Sa:d and unhappy

(d) Full of life and laughter

2. Hughie was — when he heard that
Trevor had told the beggar all about his privat
affairs. x
(a) furious (b) amused

(c) annoyed (d) begged



~

—_— ‘-hrn s % &

Why did the woman invite the narrator to lunch?
(a) She wanted to discuss her book with him
(b) She wanted to show off her wealth

(c) She wanted to borrow money from him

(d) She wanted to ask him for a favour

How much time did they take to repay the loan?
(a) ten years (b) two years

(c) five years (d) six years

Which of the following essays describes a subject?
(a) Narrative essays

(b) Reflective essays

(c) Argumentative essays

(d) Expository essays
(B) Fill in the blanks : Bx1=5)

Hearing the cooing of , the child ran
towards his parents and dropped down the petals

in his hands.

Hugh had tried every profession

the narrator order for his lunch in

“The Luncheon”.

2 S.No. 8093



9.

10.

11.

11.

12.

13.

14.

15.

The

lLoisels wrote to that the

ncecklace had broken.

Report writing should always be done in

voice.

Answer the following questions: (B x 2=10)

How did the child react when there was no sign of
his parents?

What kind of man was Hughie Erskine?

What were the things ordered at the luncheon?

How do they replace the necklace?

Write the importance of writing a precis.

SECTION B — (5 x 5 = 25)

Answer ALL the questions, choosing either (a) or (b).

16.

(@)

(b)

How did the sight of a snake-charmer leave
the child spell-bound?

Or

What is the theme of the story “The Mark of
Vishnu”?

3 S.No. 8093
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18.

19..

20.

(a)

(b)

(@)

(b)

(a)

(b)

(a)

(b)

Why is Hughie described as ineffectual?

Or

Why did the author treat the photograph as a
bauble?

Write the summary of “T'wo Old Men”.
Or

What was going on in the narrator’s mind
before the luncheon?

How did Matilda react when her husband
told her about the invitation?

Or

Discuss why Madam Forestier’s revelation at
the end is ironical.

Write the salient features of a good report.

Or
Read the passage carefully and write a
precise of the same i1n your own words. Give
the suitable title :
Recently, the National Health Authority
(NHA) and the All India Transporters
Welfare Association (AITWA) have
announced a partnership through a
Memorandum of Understanding (MoU). This
4 S.No. 8093
P.T.0.]



partnership aims to provide healthcare
services to around 10 million truck drivers
under the Ayushman Bharat (AB)-Pradhan
Mantri Jan Arogya Yojana (PM-JAY). The
NHA and the AITWA will work together in
order to identify truck drivers and employees
of transport companies who are eligible for
the scheme. The Common Service Centres
(CSCs), which comes under the Ministry of
Electronics and Information Technology, will
work toward facilitating the verification of
drivers using the NHA’s Beneficiary.
Identification System. This collaboration will
help thousands of eligible families access
in-patient care for serious illnesses at a
nationwide network of 19,002 government
and private hospitals empanelled under the
PM-JAY. After the verification, the eligible
drivers can get their AB PM-JAY e-cards at
the nearest AITWA Highway Hero Centres.
In the first phase, a pilot project will be
conducted at key locations under the AITWA
and the AB PM-JAY. This will be expanded
to other towns across the country. Eligible
drivers and employees of different transport
companies will be able to avail themselves of
the benefits after getting the PM-JAY cards.
NHA officials will work closely with the
teams of the AITWA and the CSCs to conduct

the drive to identify beneficiaries.

5 | S.No. 8093



21.
22.
23.
24.

25.

SECTION C — (83 % 10 = 30)

Answer any THREE questions.

Write the themes of “The Lost Child”.

What did Hughie see in Trevor’'s studio?

Describe the woman in the story, «The Luncheon”.
Discuss how did the Loisels get the money to buy a
new Diamond Necklace?

Write a letter to the principal of your school

requesting additional library facilities.

6 S.No. 8093
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(8 pages)

S.No. 7726 T 22 SCACAOB 3

(For candidates admitted from 2022-23 onwards)
B.Sc. DEGREE EXAMINATION, APRIL 2024.

Part I1II — Allied
ACCOUNTING AND ORGANIZATIONAL
BEHAVIOUR —II1I1 ORGANISATIONAL BEHAVIOUR

Time : Three hours Maximum : 75 marks

SECTION A — (20 marks)

Answer ALL the questions.

I. (A) Choose the correct answer: (5x1=25)

G (PWDHHBSET eLPLD @60 & (HSHEN 6T
SIML_GUSHETET Fepss &6t (H Gg L SeT
(<2}) BiemLoLILy

(<) QCoevmeTenin
(&) sSeewenLo (FF) DBLSOS

are social inventions for

accomplishing goals through group efforts

(a) Management (b) Organization

(c) Leadership (d) Behavior



vemfilull_g &l v @R(H & 6Tl 15 L1 1T 6ot D_GHOTITEH Gl
LUTH&ESH&ETaIg W srranflluns @ orsgs 6Tl ?

(1) <Dp(@HEMLOLI LIGHITL| &S 6T
(<=2) BlmicuerT Ser&EsmyLd
(&) 22L& @@L

(FF) &Seps 2erL_s Q&ms‘uurr@

Which of the following is NOT a factor that can
impact an individual’'s perception in the

workplace?

(a) Personality traits

(b) Orgaﬂizational culture

(© Physical environment

(d) Social media activity

ABC wrdfudlenm Uiy <igmi@&Gapenmullen epeml Samiser
WImen ey ? ,

(=) uwurdly, LSS, SLHuur®

(<2}) <HEWUSGPOD, BLSMS, cNleneTay

(@) urdiL, BLS®S, DDHUTDHDED

() Qewe, BLSMS, allenaTay

What are the three components of attitude
according to the ABC model?

(a) Affect, Behavior, Control

_ (b) Attitude, Behavior, Consequence
" (¢) Affect, Behavior, Cognition o
(d) Action, Behavior, Consequence

2 S.No. 7726 T
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Blpioudiene. aflflaer wohmib SO LD L L5 (&ML 65T

@hepemon ailoufldgaa|b.
(<21)  PEODUITEGT (F(Lp
(@)  srgryewr @p

Describe the group
structures.

() (PEODEFITTIT (&P
(/7)) LR SELDITEET (G (LD

with established rules and

(a) [Fformal group (b) Informal group
(c) Casual group (d) TFFamiliar group

g,smc;ua_lrﬂr_l_b @ oo (&HETLD GT&) ?
(21) BheBaIH (<2) GWyhBHEH 6D
() =2psIse (FF) D& DI(PSHLD

Which is a quality not possessed by a leader?

(a) Paternalistic (b) Delegating

(c) Motivational (d) Stressful

(B) Fill in the blanks: (B x1=>5)
GreoTLIg) 1B M) UG & (GTHE (HEIT D& & 6T
GTGUGU M) Qouwidv @GS DITEET - ereTLIemNS L) LIl u
DIMOIAINGIT @uIG WOMHMID LIUWIGTLIT(H <DpE&HID.

is the study and application of

knowledge about how people act within

organisations.

3 S.No. 7726 T



10.

ss  Ghloosailde safipuisdr
eTILIg Heoarsfprisdr, DT E DTS ST wooHmItd
‘r_bl_‘i_‘:jg‘)!@&ff(i‘r@mﬂﬁ'ﬁdT TRTUSU udHOIw RIS cTRTMY

NN ESSULRE DS

is the study of how individuals think.
feel and behave in social situations called.

Camiumigar ug, SHOHD TaTuS
WHNRUTSOETS saaiigsit SletudHmbd
Qewppepullar paow HlsphEos.

According to theory, learning occurs
through a process of observing and imitating

others.

Cursesaurss Qpflsd  caraTLE)
SIRSESSIDS 2B ThSHSSTH-

Traffic congestion is an example of

stressor.

STERTUISI vl Ssie e
QeruiiyenL W QR QUSSWUIMTST LT S(WPSSLMESLD.
5! sicuauuGursy sl BraTUL L STs
Qp&seomb.

is a type of stress associated with the

workplace that can be occasional or chronic.

4 S.No. 7726 T
IP. T XL}



II. Descriptive type questions. (5 x2=10)
11. Blmieuer pLgeangulesr gGsenib @r;re;wr@ wrdMsenar

L 1g-ut &S] (h) il & 6T
List any two models of organisational Behaviour.

12. Seofl 15L& 6 60 W L bl &5 (&L & Ty eoofl & em 61T ds
GSOILIS _ayib.

State the factors which affect the individual
behaviour.

].‘_3. DI (&H(LP D GTGITMME) GTGITEdT ?
What is attitude ?

14. & BLSmGulle BTG DILbEFRIGET WLITENG ?
What are the four aspects of group behavior?

15. gGsemib @) geser(h GUENSUITET SO MLDSHIGUSH NS
19 ut &S] (H) Bl 6T

List out any two types of leadership.
SECTION B — (6 x 56 = 25)
Answer ALL the questions, choosing either (a) or (b).
16. (cg;;/) 16l mj v ot ‘ml_g,mg,uﬁlm WPsHW samisemerts LimH

eumdl&&HaLD.
Discuss the key components of
-Organizational Behaviour.
Or
(<2) Blmieuer pLSmsUSler @pgeTend Crrés nigser
- GTGOTGUT ?

What are the primary objectives of
Organizational Behaviour?

5 S.No. 7726 T



18.

(<)

(=24%)

(<1)

(<24)

wefls mL_GHeang LHDIDL ApgQeuGuged Blmieier
S(HSS! CTETET L&, U &sH me ?

What role does perception play in shaping
‘human behavior and decision-making?
Or

seorssry  Coupur@ser  LodGeum) FLp VS erfl v
W6TlE BL Sensenw CTeUeU MM LIMHl&H ) ?

How do cultural differences affect human

behavior in diverse environments?
Lo LITeiTem ouSletT < iBleumbmed, Smaasib LOMH M) LD
BLgeng samisenaris umMdl efNleurdssea|b.

Discuss the cognitive, affective and

behavioural components of attitudes.

Or
bl mi G T <TGl Ly LD D mi LD LI eoufl ul rerrir
LOS@TLILITETENLD  WOHMILD  BLSHSESTET D S6T
2 _meneusd GHMILILGL_ayb.
State the  concept of organizational
commitment and its relationship to employee

attitudes and behavior.

6 | S.No. 7726 T



19.

21.

22.

(<21 G BLgamgulles WpsHw LT sener oL () M G 6T

State the key characteristics of group

behavior.
Ox
() wGoum eewswrar CGouemev (PSS M & 6T
GT GO GUT ?

What are the different types of job stress?

(3) Wevtprwiss SOV ENLD G ) 6L L meustl udl oT
berenwsemer aSleuM&sa]Lb.
Describe the advantages of the democratic

leadership style.
Or

‘(c_sg_b) r&luene GUED T WM SHHELD. <15 GTiiLlig

@['é,]a;rrgrswssrﬂeﬁ@‘r_'r;@ aumIUBSH o ?

Define politics. How does it differ from
powers?

SECTION C — (3 x 10 = 30)
Answer any THREE questions.
Blmieuer pLsenguler Crréssams elerTds @ s .
Explain the scope of Organizational Behaviour.
weafls BLSmsmW Nars@lb wsHwu Csmi_u THS&ET

WIMenael, <DeummleT iami@&penmuied jenay GTGUGU T
GoumiuhSlerment ?

What are the main theories explaining human
behavior, and how do they differ in their
approach?

7 S.No. 7726 T
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S.No. 7158 22 SCCIT 3/122 SCCCA 4/
22 SCCCS 4

(For candidates admitted from 2022—-2023 onhwards)

B.Sc. DEGREE EXAMINATION, APRIL 2024.

Part IIIl — Information Technology / Computer
Application / Computer Science — Major

DATABASE MANAGEMENT SYSTEMS
Time : Three hours Maximuin : 75 marks
PART A — (20 Marks)

Answer ALL guestions.
I. (A) Multiple choice questions: (5x1=05)

1; offers the ability to query the data and
insert, alter, and delete tuples.

(a) Transaction Control Languag; (TCL)
(b) Data Control’Language (DCL)

(c) Data Definition Llanguage (DDL)

(d) Data Manipulation Language (DML)

2. How many join types in join condition?
(a) 2 (b) 3

(c) 4 (d) 5



functions returns Maximum value of

expression.
(a) Maximum (b) + Max
(c) Max all (d) Distinct

The entity relationship set is represented in E-R
Diagram as

(a) Double Diamond

(b) TUndivided Rectangles

(¢) Dashed lines

(d) Diamond

By normalizing relations or sets of relations, one
minimizes
(a) Data (b) Fields

(c) Redundancy () _ Database

(B) Fill in the blanks: (bx 1=25)

‘is-a collection of data.

In relational database, data 1s stored in the form
of

1s a unique value that identifies a row.

data type is used to store date and

time.

The overall structure of database can be

represented graphically using
2 S.No. 7158
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11.
12.
13.
14.
15.

16.

17,

18.

Descriptive type questions: (5 x2=10)

Define instance and schemas of database.

Define Relational Algebra.

Sketch the syntax for View.
List symbols used in E-R Diagram.

Define Normalization.

PART B — (6 x 56 = 25)
Answer ALL questions, choosing either (a) or (b).

Write a note on Data base languages.

(a)

] Or

(b) What are the drawbacks of file processing
system?

(a) Recall Relational algebra operations with

example.

Or

(b) With Example explain modification of

database.

(a) Explain with example the different Set

operators in database.

Or
(b) What is Integrity constraint? Example.
3 S.No. 7158 _saq



19.  (a)  Write a note on Tuple relational calculus.

Or
(b) Sketch Query by example with example.

20. (a) List the Features of good database design

Or
(b) Explain First Normal form with example.

PART C — (3 x 10 = 30)

Answer any THREE questions.

21. With a neat dlagram

explain the structure of
Database.

22. Explain the structure of relational database with
example

23. Discuss the different types of'_](nns with example.
24. Explain the role of E-R diagram in Database with
example.

25. Elucidate Functional dependencies in detanl,




CR22S 6OBAVL

(8 pages)
S.No. 7725 T 22 SCACAOB 2
(For candidates admitted from 2022—-2023 onwards)
B.Sc. DEGREE EXAMINATION, APRIL 2024.
Part III — Allied

ACCOUNTING AND ORGANIZATIONAL
BEHAVIOUR —11I

COMPUTER APPLICATION IN BUSINESS
Time : Three hours Maximum : 75 marks
PART A — (20 marks)

Answer ALL questions.

h 8 (A) Choose the correct answer: B x1=5)
1. Gemeupeuerioupiler argl @ Qeuallui B srsersHenr
THSESISSTL O ?
(<) wmefll_L_ir (<=24) Slem&FliLicvenss
(&) weys (FF) &R uUmd
Which of the following is an example of an output
device?
(a) Monitor (b) Keyboard
(c) DMouse (d) Printer

: 9



0o

Siguuentulles MS  Excel oL er

Qsrumyeorws).
(=) auniseng cravresflsans
(<=t) CGaeme ysssw

(D) <SiShsed QenewTliyy

() Sig&SHluy
is basically related to MS Excel.

(b) Work book

(a) Word count

(c) Mail merge (d) Footer
TS SS(@hHL_6bT SBTS (&SN 6T o araflHiwbGu &)
Wlestou (meuarteu mmled TENS 2 _(Hheu TS (GGl

S L_mudleoemnaod ?

(=) UBEG GW
(@) unRIEG cuensseT

Which of the following is not compulsory to create
while entry in Accounts with Inventory?

Stock Items
Unit of Measure

(=) uniEg QumEplser
(FF)  eama (B <6V

(a) Stock group (b)
(c) Stock Categories (d)

gpseargperpwns Tally ews Qsrimdlu GOneE oths
Qe Csmermid ?

(1) GalGou ot GLedl

() BreT Usssb

(@) BHlocuarsden sseucd

(FF)  smld

2 S.No. 7725 T



Which menu appears after starting Tally for the
first time?

(a) Gateway of Tally (b) Day Book

(¢) Company Info (d) Display
) GUIMg & & W TET (55 (SH <jGuIT Gu l'!'(f_T)lL.&S_GDG‘ITﬁi
HpUulGs 5mbGurg) siguuiu@GID.

(1) wumm GHuy
(=24) &L GO
(@) uUGErSUMTDT &) 6imeu M6

(rr)  1Glev _

A is sent to a customer when he

returns the goods

(a) Debit note (b) Credit note

(c) Proforma invoice (d) Bill

(B) Fill in the blanks: (bx1=05)
S euenTSHH DS Ctrl+S S Laner

uweTuRSSIL GBS DS

The command Ctrl+S is used to

document.

T5Qe @ Bruser sremeu 2 eatafll(hd Lexflgsmaftl e
D{lgIuIenL V(S GT &uT
SIMP&SSILBHS DS .

The basic unit of a worksheet into which you enter
data in Excel is called a

3 S.No. 7725 T




10.

L.

11.

12.

13.

sPsemssear Tally uleo wrebCsmmb
Swmifl& s L B é corm eur.

reports are prepared monthly in

Tally.

Tally @) ev S w G]Gu:‘_gr'rassﬁ, (SHLPSSET WOHMID U FFIT
GU G & & EH 6T 2 _(HeUTEHS Cogn
LweTUQGSSUILBE D).

menu is used to create new ledgers,
group, and voucher types on Tally.

Brd @ yHwu  Hneuarsens o (HeumsSlul e 6o
srarrsGou Tally epeLLD

2 (HhaumSS LIRS DG .

1s created by Tally automatically as
soon as we create a new company.

Descriptive Type questions. (5 %X 2 = 10)

Blenateus s Hiuumt_H SIV(H UM TWIMIGHELD.

Define memory control unit.

@\ yesoT (h) GUENSWITGT NleT&&s UL Sengu|b
- I . =2
U 1q. w168l (B S @i

List out two types of chart.

Spuenar i (e mer APTTIL S Eow erpsayLb.

Write the shortcut key for sales order.

4 S.No. 7725 T
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14.

16.

SiLSsAHemw s aatuens ubnd Bl wyfleuc

wiImadh ey ?

What do you mean by cost center?

CLys urrlug eTlug ?

How to view Daybook?

(<)

(<24)

(<)

PART B — (5 x 5 = 25)
Answer ALL questions.
w&Grrensul. Cauriged “Gscu” wHmb “CGseu
ev”’ Qe Cu o _darer Caugumien
aﬂmé&@r&as‘n.
Explain the difference between “Save” and
“Save As" in Microsoft Word.

Or
Word sgjauammgder 2 arar 2 année QaucuGaum
augauewluy urneflsema (semauy urnexflaan
Curetpeneu) eTauaumm LWEETURSHICUE ?
How do you apply different formatting styles
to text 1in a Word document?

QGaum SiU_L_cuanaTul e Sihsrusenar
Ul igwSiPrusar.
List out the features of the Pivot Table.

Or

S.No. 7725 T
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18.

19.

(<=24)

(<=1)

(<=24)

(<1)

(<2b)

TG ED @ aufemaFliLBSHIGHOD WHMID Glg.&hLlg.
DD FHBIGENGTL LTI (Db HIeUGET  [HGOTED LD & 6T
GTGOTGOT ?

What are the benefits of using sort and filter
features in IExcel?

senflaflwuorsstiur_ L & 6ooT &5 &5 W GO GTGUTD TGV
GT6UTEOT 2 ISl GN&(LP GO & GooT & &l LW 6L
Glew v pen el el (m b GTGL G ITD)
Coaumiu®S me ?

What is computerized accounting, and how
does it differ from manual accounting

processes?
Or

Tally @6 BHloieuensder sw  eSleuprisener
GTGUGUMM| 2 (HheUMH&Heug whmib Blireudliig) ?
How do you create and manage company
profiles in Tally?

CLeSlu9eb 2 GiTeT Fir&(&HSH6rT Glgrn_m_lrre.'o-r @a;eﬁ]u_l
QFWeLLITHS&ET WITeneu ?
What are the key functionalities related to
inventories in Tally?

Or
Tally @ Q&6 UMSSHMET 2 (HEUTE (S 66
Cpréassangsd @GOG ayb.
State the purpose of creating cost categories

in Tally.
6 S.No. 7725 T



22.

Tally @ Gorgenesr @ Uy sifléengsules
WESEW samIsET wneneu ?

What are the key components of a trial
balance report in Tally?
Or

(=) Tally o vweaTu@Essd: eTuug Bl L
Sipdlsamsanws swnflésemb ?

(<1)

How can you prepare a fund flow statement
using Tally?

PART C — (3 x 10 = 30)
Answer any THREE questions.
saefluuwanssuul L 2_GTeTL_&&555) M & meur
oSO LHORSHET TeuaUTD @Q)enanTILIg) ?

How do you insert merge fields into a document
for personalized content?

Microsoft Excel gz auengumss =iser apsetenio
Qeswaur@senar ahlars (G rusar.

Define Microsoft Excel and explain its primary
functions.

Tally uSlev cuassisafler WEElwusgIusSas
cSlaTé&sayb.

Explain the importance of vouchers in Tally.

7 S.No. 7725 T



24.

25.

Gr_aSlulled L Gleg GTGOT D TGV GT GOTGOT, 215
QerEuUmEBeled 6Ty GuUemFuIMIGEESLILBH$ DS ?

What is a budget in Tally, and how is it defined
within the software?

CLailller eumidl swrs dlsmsaow  swmfluude
2 _&TeT Uilgsanem adleufsseyb.

Describe the steps involved in preparing a bank
reconciliation statement in Tally.

8 S.No. 7725 T
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(For candidates admitted from 2022—-2023 onwards)

U.G. DEGREE EXAMINATION, APRIL 2024.

Part IV — Commerce — Non Major Elective
SALESMANSHIP
Time : Three hours Maximum : 75 marks

PART A — (20 marks)

Answer ALL the questions.

I. (A) Choose the correct answer from the
following: (5 x1=5)
1. Qoeupdlsgomer  &SlMHLIGH 60T TET(MH (& @Gh@msmmm&g
H&HS ereITErT ?
(=21) 2 amGEr&EsLDd . (=) u&sTsTULD

(@) z2mdHupp seteno  (rf) GrdHipeierenio

What quality is essential for a successful
salesperson?

(a) Introversion (b) Empathy

(c) Indecisiveness (d) Inflexibility



!O

o maey &9h L6 esTullest HoUGlwiedL| eTeoTenT ?

(1) GOEHW ST HEIGTLD

(=2p) DNeTQHTLTHD @ L6 TEmLD

(@) ufleurgseanas LoaTHlEne

(rr) BetrL &mev i rluesfliy

What is a characteristic of relationship selling?

(a) Short-term focus

(b) Lack of follow-up

(c) Transactional mindset

(d) Long-term commitment

Sl HueneTulmerit &9l mLIeneTenul eppheuensg eThHsF Gleuid

Qurgeunss GO&S DS ?

(=1) Sy Caearaflasanens Csil Lig)

(<) L CoLiemarns(@hs (S (P &bt SGIT(GTH LILq & 60 6T
GLU LD M (&S 6L

(@) meTenOSHEEnET & (H& S el MHueneTanw
2 DHLUG SISO

(rr)  s&T Qarrmeanu sedliriiug)

Which action typically indicates a salespefson is

closing a sale?

(a) Asking open-ended questions

(b) Offering discounts before objections

© Summarizing benefits and confirming the
sale

(d) Avoiding eye contact
2 S.No. 8368 T



setluu 9 LI & 6818 (& A HLIenesT GlyGxpaib
cTeueumTm o Ha|dHletTment ?

(<)

(<24)
()

(rr)

&S L e Got UM LS ErT S UuU B HG 6USD 6T

L6V LD
sieflsEer Gumiigenuws DiSlsMULIGEs (LD

cueT H&HISGEG WHMID SeueTd L&D
CbLUBSFHIGUSHET PLPGULD

RSB LI 2S5 HSSIGUSET ELPGeVLD

How do sales territories help in personal selling?

@)
(b)
©
(d)

By limiting sales opportunities
By increasing competition within the team
By optimizing resource allocation and focus

By discouraging collaboration

cGluenerT Lenl_ BlifaunssEeT (P&SSHIU DIDFLD GTEITEHT ?

(=1)

(<24)

(@)

(rr)

& QewaflpeneTll Lm&saTlSsed

sefllluul L. srgamersariled wL_HGw & 6L GBTLD

Qo6 &I% 6L

aSpuenensd (GHpedmhE aIWNsTL HseLd WwOHMIWD
<2AST®G AULPBEISSHD

G eHSHIemLpLIenL) S&SlmliLIg)
3 S.No. 8368 T



What is a key aspect of sales force management?

() lgnoring team performance

(b) [focusing solely on individual achievements

(c) Providing guidance and support to the saleg
team

(d) Avoiding team collaboration

(B) IFill in the blanks : (5 x 1 =5)
glevedlwiwmer  GlUMIHET SHH6UD  GULDMHIGEUS  WHMID
6L TLg-&5 65 & U ITGITIT & 6L 61) 6L & GB) GIT Bleumrs S Qeuwicug
&) [ L1 &% GoTu 6T 1f] Gor @) et S
U @HWmEGLD.

Providing accurate product information and
addressing customer concerns are part of a

salesperson’s

adpuener Glswdapenmulles (LPHL Uig
DL(SHLD.
The first step in the selling process is

el muenerrd GlFulev LI mL1g.6oT Bleneouimerg)
BETEDIOHEET F(HHHl, UG HEMSEWITETENT GUNmh&HeUSM S

uUOLMISSIGUG 2 6TeTL_&HE mg.

The stage of the sales process involves
summarizing benefits and persuading the
customer to make a purchase.

4 S.No. 8368 T



10.

II.

11

12.

LU 60| GITGIT QumBeT 2 &5 F & (@hs (S Q& mi_r&E umeor
Lo MHmI LD wrdeumpd = F&HH cumulbs
FHenS&HE MHU  eumgseanswmeri &dl@plUusSESsTeasern
CoeneuliLi(GSE M.

Effective product strategies require continuous
and adaptation to changing market

dynamics and customer preferences.

LI W &) GITGIT &S H L1em GoTLY UenL_ GLD 6V TEEITE LD &5 (&
GleualUuen L _SFHeTenLo, QuUTmILIL|&&n meD LOMHMILD
Wwig-Geumiuideb Qewevsaflgy b

STHleneSHEemaeT Heml_L1Glig LIug) ieuSFlulLD.

Effective sales force management requires

transparency, accountability, and adherence to
standards in decision-making and

actions.

Answer ALL the questions. (6 x2=10)
&Sl H1LIGH 6T GTGOTMITED GTEoT6uT ?

What is selling?

G T (& LD (WP 19-61| & 61Tl 6L O LI &) vl meoT G TRl (&5 LI GUIT

GBS BISET GTGOTENT ?

What are common buyer motives in purchasing
decisions?

5 S.No. 8368 T



13.

14.

15.

16:

&Sl b e eTuSlGL <2 Gguenerrsenert 6 & UL TEIT 6L 5 6y
PSEWLSHIUS®SS oM.

State the significance of handling objections in
selling?

Nl HLIem Tl ) (€ F-F-2T0) GTGL G5 GV & G GIT eTUiLg.
GUEH TUIMI&HHGOITLD ?

How can sales territory boundaries be defined?

aflpuenars LewL. Gueremenwoudsd QBMpenmssT 6ram
WSS wLb ?

Why  ethics is important in sales force
management?

PART B — (5 x 5 = 25)

Answer ALL questions, choosing either (a) or (b).

(=21) Goeumpdlsyomert &l H L1 6w &TW TerT (85 (55 GT GOTGUT
(SHEVTRISET <SjeudlulLb, Cuib jemau GTGUGU M)
eSlpuener CEwdSmen & s, Ui s erfl & & estm 6ot 2

What qualities are essential for a successful
salesperson, and how do they contribute to
sales effectiveness?

Or
6 S.No. 8368 T



185,

(<24)

(=)

(=2b)

(<1)

NHUMET GUOIBTHET SRIGET  SUWITHlLL&G6T
<LV G Ceemeusener uwmMduw (P LPEHLOUITEDT
Hifgemends Qamerig(bLriug 676t (p&Sluib ?

Why is it important for sales professionals to
possess a thorough understanding of their

products or services?

&Sl L1 e eot QEuweLLImLig 6L GU ITLg &G0 & UL TGITIT
GTE ITLITITL L& 60 6IT WY Q&meTeu S Gr 6ot
PSS WIS ?

Why is an understanding customer

expectation crucial in the selling process?
Or

ufleusseneT  &mibg — dlbuenet  LOMHMID 2 M6
admueneTudcd  GNlHLIGHET  GULEIBTSET  ShEISET
SIEB(S (PEPDENW GTEUGUTMI LOMHOIWIEHLOSHSIDITITSHET ?

How do sales. professionals adapt their
approach in transaction-oriented selling

versus relationship selling?

e ySw swurfuy Qeuefluigbearer &llileu e
&Sl b LI 6w 6ot S L_sms D ((HGU T (FHGEUS M & T6oT
Lig SemaT Slerms (&s.

Explain the steps involved in developing a
comprehensive sales plan for a new product

launch.

Or
7 S.No. 8368 T



19.

20.

(<=4)

(<)

(<=31,)

(<1)

Q(H  LwenieTer  guimifliiy QULPMBIHED | <DLV G
CQewer olemssd  &SlbHLen e QEwied penmenw
creueumm Lmdl&EH e ?

How does an effective product presentation
or demonstration influence the sales process?

a9 Len et GNrCss Blireunrsgd e 19 6srevremt) ud 6o
Luien)eirert Swimfliy 2 & $lFlasemerr
2-HUTHGHUSHSTET  (Lp&dlw uf&fven s emnen
&SlerTds (58,

Explain the key considerations for creating
effective product strategies in the context of
sales territory management.

Or
Gumriy e9enev Blffewrwib  whHmwb &l b L1 em eor
GUI (MhH G ITEH W S5 &M&s GT GoT GoT 2 SHS& e

LweTu (b s LU H &l evtm ot ?

What strategies are employed to ensure

competitive pricing and maximize sales
revenue?

[CNITINTR TG SOOI L &e6iT LOMIDL  a9bHLener
LI6® L_& & meut 2G5 &5 05 Ten s on e Bl remTudl & (&0
Curgl smsHDd Qararer Geuetoriq u &Smiyestlsen e
&9l 6rTs (5.

Explain the factors should be considered
when determining cCOmpensation structures
and incentives for salesg force.

Or
8 S.No. 8368 T



21.

22.

23.

(=) eSpuener Geweadmer wHMIb C&uw 6 Hmen e
LW & &Sl .,—_lz.u{g‘)]esq GO ITERITENID  GTEITENT  LiMi(&

cudl &S meg) ?

What role does knowledge management play
in driving sales effectiveness and
performance?

PART C — (3 x 10 = 30)

Answer any THREE questions.

aflpueneTuiled Gumgieurss  smewrliuBIbD wevGoumy
QUENSHUWITET 9T TeTT&S6T UMM afloums).

Discuss the different types of salespersons
commonly found in the sales.

SNl LIemoTE QaFuIcd LML _Ig 6D o GiTerT Gu MUl L|&enerT
M b Ol & meiTeu g M & maest (PSE WD TET DS TSN GEIT
Nl 6T (& -

Explain the important sources for understanding
prospects in the selling process.

&9 M Liem 6ot GGV EYI B T&HGEIT &9 LI e eTEm Wl Sobu
e (M euUSMHSLD, cumul LIy &serfl edl (b Sl o mIHuum e
2 mi& GlEuIeusS MG LD GT GUTGOT o HHHET Lo MHmILD
mIC UG eTl LweT(hSSeomb ?

What strategies and techniques can sales
professionals utilize to effectively close sales and
secure commitments from prospects?

9 S.No. 8368 T



24.

Alphuener eu@IBMT&ET eTUUIG Fp% ffszu_xz'nglze:'r LoD M
<24, 65T €0 €V &7 5 ET G565 T G UL L 5 &7 WO m D
GUIMIg & 6 & U MTETT 18 (ST LT QemfyGlsmerer B peysane
2 (HEUM&E&GLD, .~ S&GUED wys55l e ehlfhuenerenuy
iflsfssab UWETUB 5SS DTTSHET.

How do sales professionals utilize social mediz
and online platforms to engage with prospects and
customers, build relationships, and drive sales in
the information age?

safluuc L. Csmhplb eumgsenswinerilens  eramertb
woHmib pBLYSHsenw eueTTUugldr eTemer Urfus

cu&l&&ma.
What role does personal appearance play in
influencing customer perceptions and building

trust?

¢

10 S.No. 8368 T
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8. What is an Error Correction?
9. What is mean by DNS?

10.  What are the routing techniques?

SECTION B — (b x b = 25)

Answer either t;a) or (b) in each of the following

__M_r_n Netwnrk models

-



14. (a) What is an User Datagram protocol? Explain.

Or
(b) Write about the TCP congestion control mb-

| -det'aﬂ.. XA W

,‘-u-\.l\.-\..i' T

e,
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(For candidates admitted from 2009-2010 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.

Part IV — Gender Studies

 unelar swggien

-
L
1 s




(o) Gueaet whmib urelar < leyseais V] cug)
S gdler  ULsmLESpS LOmen Wi & (8519 6 ein
QUPIBTL 6T Lilg BSeT Lkieans Blemi,

Distinguished the role of UGC guidelines of
VII plan in Women'’s Vs Gender studies,
Or

 fugglab  Ghlsg  Quigdmdern
RIS DST 5.

it er studies in the Beijing

S




(=) Cuenms@EnéE oflsmmd eflseEnd Cendensenu
chleu.

Describe in the policy of Empowerment of
women.

“‘@Owu po FHweapd Coameauwr 77 gws.
“Need Family Court” — Examine.

Or

o

onflo Quenss: ayman> 6556 Horh

Jommission for women.
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What is Dynamic Input Addressing?

8. Write the role of Mobile Agent.

9. Define Memory Management,
g :
10.  What is the difference between windows XP and




_ Or .
Scuss the design -i:ﬁt;ﬁ&_iﬁ'mohile operating

em.

%
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How to set cook in PHP?




(a) Write short notes on Cookies,
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13.

14.

16.

18.

What is a moral of the story How I taught my

grandmother to read?
Explain structure of framing sentences in present
Tl

tense.
Discuss the contents included

circular.

PART B — (5 x 5 = 25)
Answer ALL questions.

What does the poet suggest doing instead of

(a)
quitting?
Or
(b) Discuss writing style of Edgar Guest in
Don’t Quit.

(a) Describe the two roads that Robert Frost
comes across.

Or

(b) Write themes Robert Frost used in The Road
Not Taken.

(a) What is the summary of Wings of Fire?
Or

(b) Explain autobiographical elements in Wings
of Fire.

e S.No. 8095
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t ar
19.  (a) Write the difference between present an
future tense. :

Or

formula of future perfect
continuous tense.

(b)  Discuss the

<0. (a) Explain the process of making a memo.
Or

Discover structure of drafting an email.

(b)

PART C — (3 x 10 = 30)

22, Identify ang Ulustrate the types
inD. H Lawrence’s “The Snake”.

Write a brief note on the settings of How Frog
went to Hequen,

of imagery used
23.

24. Explain concord with examples.

25. Draft an email to

meeting which is to e held i

and send CC to your M

I your department
anager.,







5.

3.

(d) To decresse

Which of these must be avoided in a group
discussion?
(a) Speaking facts ,,1
(b) Asking questions | -.
(c) Speaking fast ' g
(d) Speaking with clarity
Person who does not believe in the existence of
God: |
(2) Theist () Heretic
(c) Atheist (d) Fanatic

What is the purpose of repetition- in

advertisements?

(@) To confuse the audience

(b) To emphasize key points and create .!
familiarity

(c) To distract the audience from the main
message

the effectiveness of the
advertisement |

S.Na. R104




21 Which of these must be avoided in a group
discussion?

(a) Speaking facts
(b) Asking questions
(c) Speaking fast

(d) Speaking with clarity

4.  Person who does not believe in the existence of
God:
(a) Theist (b) Heretic
(c) Atheist (d) Fanatic

5. What is the purpose of repetition. in

advertisements?

(@) To confuse the audience

(b) To emphasize key points and create
familiarity

(c) To distract the audience from the main
message

(d) To decrease

the effectiveness of the
advertisement §

S.Na. R104
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(i1) How do bees contribute to ecosystem
stability and biodiversity?

(1) What are some of the threats facing

bees?

(iv) What efforts are being made to address
these threats?

(v) Why is bee conservation unportam; for
1cultur and ecosystems? '
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a)  The bar graph |
19. (.{) | !hs | I shows ¥
ol vehioles '--ﬂktln out of @ammated n
microchip shortagey A Of My 208, n
The U.S. Car Mocde|s -
By The Microahip Bhorty

e

Estimated number of Vehioles teal ey Gl of Produs
to microahip shortages (eE O Ay 2021) '
109|710 . @

Way

1 97521 36465
;.:',:’ '_" > o

]

d ez Z. 7

Ford Jeep  Chevrolet Cheviolot lord Joop Ford Ford

F-series Cherokee Equinox  Maliby

Lxplores Compuss Edye Cscape

Questions:

(1)  Which model was hit the hardest by the
microchip shortage? |

(11) How many vehicles did
production?

(i) How many vehicles did
out of production?

(iv) HQW many more Ford vehicles have been
taken out of

production than Jeep
vehicles?

Ford take out of

Chevrolet take
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(b) The bar graph shows the rise aan fdl.l”(;(mq
album sales in the US since 1983 in millions.

The Rise and Fall
of the Compact Disc

: 5 1983.
CD album sales in the United States since 1
(in million units)

1,000 m | : “ﬁ
800 m :
600 m
400 m
200 m
Om

1983 1990 2000 2010 2021

Questions:

(1) What is the mode of the data and when
~ did it occur?

(i1) During which time periods did CD sales
break 600 million?

(i11) About how many more CDs were

sold in
2000 than in 19907?

(1v) Calculate the percent decline in sales
from 2000 to 2020.

(v) Give a suitable title.

10 S.No. 8104
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(b) The bar graph shows the rise aﬂfl fdl-l“(;m‘,-
album sales in the US since 1983 in millions.

,The Rise and Fall
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Questions:

(1) What is the mode of the data and when
~ did it occur?

(i1) During which time periods did CD sales
break 600 million?

(111) About how many more CDs were

sold in
2000 than in 19907?

(1v) Calculate the percent decline in sales
from 2000 to 2020.

(v) Give a suitable title.
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(B) Fill in the Blanks :

inJ dafimng their propertie

What is polymorphism in dava?

@ The ability of a class to have m, |
e:tmsu\wmm A
(b The ability to create objects  of d
classes i
(@ The ability of a method to have multmlp
definitions
(@ The ability to access private members Qf a
- class ;
Which access specifier allows a class or method to
be accessible only within the same package? ‘-';r..'-_
(@ public (b) private e e
(¢) protected (d) default s
Which keyword is used to handle emeptmns
Java? L
(a) throw (b) catch
(c)  try ) (d) finally

18 a blueprmt for ¢

yes are used to ¢




g What is polymorphism in Javal

(B) Fill in the Blanks :
A | q%_«.

@ The ability of a class to have mult

emmu'\wtm‘ﬂ o
@& The ability to create objects  of d
classes
© The ability of a method to have multmlg
definitions

(@ The ability to access private members Gf Ui

- class ;
Which access specifier allows a class or method to. | :.
be accessible only within the same package? = = =
(@ public (b) private 39 Ll
(¢) ‘protected (d) default
Which keyword is used to handle emeptmns in A lj
Java? =
(@) throw (b) catch
() try ‘ (d) finally

ok definmﬁ' thelr propertma
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S.No. 807 |
(For candidates 2dmitted from 202223 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.
Part IV — Environmental Studies

EI\'\-’IRONMENTAL STUDIES

Maximum : 75 marks

Time < Three hours

PART A — (20 marks)

Answer ALL questions.

I. (A) Choose the correct answer - (b X 1=05)
o~ ) 0 o T o e
] GleHweleh eupLsl 2 )E1D 2 @Ter LOMblevLD

(21) GBS (of,) TGS ITEH
(5] . ' y
(i) GLoMH@) GUIBIGTETLD

(5 i ok oF L .
((2)) S4bHT Gy Caeb

I'he most drought-prone state in India 18

(a) Gujarat (b) Rajasthan

(¢) Andhra Pradesh (d) West Bengal




9 WaLleItiu Lsewn sr@peer erm Qe arenr LU (D&l erpenr ?

(@) Qb Glamordd wewasar

() @uwnomad Glgm

(@) @@l waadelgm i
() <MD
Temperate evergreen forests are found in the

(@) Western Ghats  (b) Himalayan Range

(¢) Aravalh range (d) Assam

L 3. csu yspCupp “ussallar udasTEE” TR
3 SN HEISTET] ?

(D) petlLme (<) &nGomed)

(@) e psrand () ueur

The world famous “Valley of Flowers” is situated

in
(@) Nainital (b) Chamoli

() Uttarkashi (d) Pavri

WMW STILD

(-@t) wreneruiler Limser

\“-%) é‘tﬂmwﬁw Grgmbu

= ”\-._
















an ecosystem.

Or

(=) smhm wrsUT g sL_EUUTL_(H) ;bL._GULq_a;smé;a;';‘af;"'
updl eleré@s.

Explain about Control measures . of
pollution.

19, (@) sp@EG LaTpssseTanemL flarses.

i

K
i
8.
5

Y

%

' _" y

Explain ecosystem diversity.

Or
(<gp) webgyuilii wdlisar eresen ?

What are the values of biodiversity?







I:?‘ - | Whmh of the following method is used to ver ,-t th
optimality of the current solution ot/
transportation problem? .
(@)  Least cost method o T
- (b)  Vogel's approximation method |
g (©)  Least cost method - |
B @ Modified Distribution method
é;; - 4. Sequencing is a subset of
= (@) routing (b scheduling
(©) expediting (d) none '
9. The number of time estimates involved in P: 'E[‘ >
£ problem is . | '
B e 1 by 2 e
B o5 @) g g
~ (B) Fillinthe blanks: . G-

Linear programming problem that can be solved
by graphical method has — . constraints.

A linear programmmg problem have <t I
optlmal solution.

n r"."-"’.-j:'lgnment problem 18 a particular case of

- -:—I ....... .
= - __ el § A = :
re ] Ir's ! AN T ‘ Y
& "
A [ ) : I, o
= 4 2
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= -

~ ‘Write the essential characteristics of operati®

research. \
12. Define basic solution. | .
13. What is a rim condition in a transportd jon \
problem? BT \ox
14. In sequencing problem, what is the meaning of the '. _i P | >
notations M, and T? AR e ;.
_. 15. What is the expansion of EST and LFT?
i SECTIONB — (5x5=26)
Answer ALL questions.
- 16. (a) Expressthe following LPP in stands
- Maximize z = 4x, +10x, R
2 _Subj-eet to the ch_.Stfa}ms _ { '









20. (a) Find the critical path.

Or

(b) Draw‘the network diagram for the following
A, B, C can start simultaneously.

A<D I:B<GF, D<G E @8
s HoKUWH < H K G .H <8 i

SECTION C — (3 x 10 = 30)

Answer any THREE questions.

21. Solve the following LPP by simplex method :

Maximize 2 = x; + x, + 3x,

Subject to

0%y +2x5 + 25 £ 3

L3

2t X e < 2

andEay o > ()

- -+ 24 — K
=, T OREA - y A i
R A _ N i ey =
re = i e Y ol e v IS |

5 - 3 e, e .y )
mmim.w‘; g = N

NG 'S.No. 7710
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S.No. 8057 22 LCT 4
(For candidates admitted from 2022-2023 onwards) '

U.G. DEGREE EXAMINATION, APRIL 2024.
| Part I — Tamil
ueTeL W @esHwbd
Time : Three hours Maximum : 75 marks
UGS < — (20 wHuLuemser)
SMarsg NanTssEns@D L S[Hs.
I. (A sflurer dfleremwus Carplsbhss eT(WHEs :

(b x1=5)
1. ey erann Gemevedler Qummer créman?
(1) S (<) DIy
(@) @Qerub (FF)  <D4&&D

2. umgeflfer wrflenssE gHu penL GuLL oo

6T ?
(=) yedl () &TLGL(HEenLD
(@) wrenes (FF)  eT(hg)

3.  merm UphSHSe Wr(HenL W &L edr?

(=) sHMS (<) smil
(@) e (/) Q&mebevedr



10.

II.

2

12.

506G LYl e Qewdsmens Qediai Wit
(31) EPpwaser () pwHComit
(@) SOOTHEUIT () QCuennsser

Cgraamifugde CTESME S| STIEISET 2_6Teman ?

(31) S (<) 15
(@) 3 () 9
B) Casrgi L @Lksmer Blriys : (5.\’( 1=15)

ey GHGUleTearn eray mreny
Bl&lé@Lb.

pgoacien @daramowund smoed apar® Gurer
: Gure eugmbdermar.

gleurll  Quemgdh ereriu@ueur
Cluamaar e,

Oarenggamenn 2oL Curise Gue 2 V&S|
HppGs @méen

%8176 Comeneuerw  @Quipdweur
U,

DADNES|  allarés (e @ 2w auflsafldr e
B(HG (5 x2=10)

U@y AYSSIUCL  shgar wrgder Hlemew
GTGHIENT 7 |

LTene Hloogg wiiiser ereleumm Gleuibid L mbHsen?

2 S.No.8057




13.  @pifir - elerdsib &H(HS.

4. seoedldear upsellorGu Blldar gerew wirg

15, <2psCsm® Hpmd erampmed eremer?

UGS < — (5% 5 =25)

ADaSG MAMESEHEGL @ LES Sareller L 5ms.

16. (=) goedller srged gausmss GnHOST@SL

(<2t)

177 (o))
(<24)
18. (=)
(<)

LML 60&6T eull 6T(Lpg)s.

(DfevevgI)
podlenans smaedl gamaeuailer curmes WMHIGSS
SITTENTLD GTEHTET ? '
ureaeufuier getusamslt QuEphsHECsT
urLe el yeoliu®sg)s.

(Dfvevg))
wpLrssrossareflurt  umgaflufler s

ereueum) eu(memflsgararmit? :

WpwsmHoLubEGh alpr hss Cswugubienear
SIBHTEIHOHIL UL Uil @wibLs.

(Stb0g))
Sipgeudr  Srgué®  sraulLemt &bl
idle e rsmaTs snms.

3 S.No. 8057




19.

20.

21.
22.

23.

24.

25.

(@) Geoveud Sleoawrew, spymLmb GOz
BTG WITT 2 enyuuaTeuDenD 6T(LP&is.

(D))

(o) grempreasenioudien Goetawsamery LUUhSS6.

(@) Seusfpgroafl - préd @Ghlss Ceudsmen |
THSHINTEHS. |

(Sivg)
(<) Hmseper — pIHGHILS SHS.
ugd @ — (3 x 10 = 30)

aTaneuGwenid eyperm eilarmss@hé@ WL HID S (hey
auigelildy ellenL_ H(ms.

QeuETaTTII@HE LSS — LT Hehsgisaman 6ilensE:s.

upprarhile eurpelilud fpgemearser — 5L®®u$m.

QummprrhpuiuenLubie®  Gemppmiiger  eueT@pid 1
auartil @&Hidg efeurl. | ‘
i

S{EITL|EDL_EOLD - 2 Hanrs &(HSHF HMETSH
Qgn@sgimreEs.

péersniseiien eugemhHOdlener pymiis.
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S.No. 8093 22 ELCE 4

(For candidates admitted from 2022-2023 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.
Paper II — English

SHORT STORIES FOR EFFECTIVE
COMMUNICATION

Time : Three hours " Maximum : 75 marks

SECTION A — (20 marks)
Answer ALL questions.
& (A) Choose the correct answer : (5 x1=5)

3 How was the little boy feeling while going to the
fair?

(a) Nervous

(b) Frightened

(¢) Sad and unhappy

(d) Full of life and laughter

2.  Hughie was when he heard that
Trevor had told the beggar all about his private
affairs.

(a) furious (b) amused
(¢) annoyed (d) begged




E4

5)

rks

he

nat
ate

Why did the woman invite the narrator to lunch?
(a) She wanted to discuss her book with him
(b) She wanted to show off her wealth

(c) She wanted to borrow money from him

(d) She wanted to ask him for a favour

How much time did they take to repay the loan?
(a) ten years (b) two years

(¢c) five years (d) six yeérs

Which of the following essays describes a subject?
(a) Narrative essays

(b) Reflective éssays

(¢c) Argumentative essays

(d) Expository essays

(B) Fill in the blanks : (5x1=5)

Hearing the cooing of , the child ran
towards his parents and dropped down the petals
in his hands.

Hugh had tried every profession

the narrator order for his lunch in
“The Luncheon”. _"-"

2 S.No. 8093
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that the

9. The Loisels wrote to
necklace had broken.

10. Report writing should always be done in

voice.

[I. Answer the following questions: (5 x 2=10)

11. How did the child react when there was no sign of

his parents?
12. What kind of man was Hughie Erskine?
13. What were the things ordered at the luncheon?
14. How do they replace the necklace?
15. Write the importance of writing a precis.
SECTION B — (5 x 5 = 25)
Answer ALL the questions, choosing either (a) or (b).

16. (a) How did the sight of a snake-charmer leave
the child spell-bound?

Or
(b) What is the theme of the story “The Mark of
Vishnu"?

3 S.No. 8093

P . T i e s e il iagaa .
;&J-e'.:.:-—sﬁ' N o W DR | S [ - n"cww\z\c!..:».;'uumvm%-g-mw._d s



18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Why is Hughie described as ineffectual?

Or
Why did the author treat the photograph as a
bauble?
Write the summary of “Two Old Men”.

Or

What was going on in the narrator’s mind
before the luncheon?

How did Matilda react when her husband
told her about the invitation?

Or

Discuss why Madam Forestier’s revelation at
the end is ironical.

Write the salient features of a good report.

Or

Read the passage carefully and write a +
precise of the same in your own words. Give

the suitable title :

Recently, the National Health Authority
(NHA) and the All India Transporters
Welfare Association (AITWA) have
announced a partnership through a
Memorandum of Understanding (MoU), This

4 S.No. 8093
[P.T.0.]



partnership aims to provide healthcare
services to around 10 million truck drivers
under the Ayushman Bharat (AB)-Pradhan
Mantri Jan Arogya Yojana (PM-JAY). The
NHA and the AITWA will work together in
order to identify truck drivers and employees
of transport companies who are eligible for
the scheme. The Common Service Centres
(CSCs), which comes under the Ministry of
Electronics and Information Technology, will
work toward facilitating the verification of
drivers using the NHA’s Beneficiary
Identification System. This collaboration will
help thousands of eligible families access
in-patient care for serious illnesses at a
nationwide network of 19,002 government
and private hospitals empanelled under the
PM-JAY. After the verification, the eligible
drivers can get their AB PM-JAY e-cards at
the nearest AITWA Highway Hero Centres.
In the first phase, a pilot project will be
conducted at key locations under the AITWA
and the AB PM-JAY. This will be expanded
to other towns across the country. Eligible
drivers and employees of different transport
companies will be able to avail themselves of
the benefits after getting the PM-JAY cards.
NHA officials will work closely with the
teams of the AITWA and the CSCs to conduct
the drive to identify beneficiaries.

5 S.No. 8093 ;




SECTION C — (3 x 10 = 30)
Answer any THREE questions.
Write the themes of “The Lost Child”.
What did Hughie see in Trevor’s studio?
Describe the woman in the story, “The Luncheon”.

Discuss how did the Loisels get the money to buy a
new Diamond Necklace?

Write a letter to the principal of your school
requesting additional library facilities.

6 S.No. 8093



S.No. 7159 228CCIT 4

(For candidates admitted from 20222023 onwards)
B.Sc. DEGREE EXAMINATION, APRIL 2024.

Part 111 — Information Technology — Major

ASP.NET
Time : Three hours Maximum : 76 marks
PART A — (20 marks)
Answer ALL questions.
I (A) Choose the correct answer : (5% 1=05)

K What is a server control in ASP.NET?
(a) A control that runs on the client machine
(b) A control that runs on the server

(¢c) A control that can run on both the client and
server

(d) A control that is not used in ASP.NET

2 What is the purpose of the HTML ‘<input>’
element with the ‘type’ attribute set to “submit”?
(a) To create a hidden input field
(b) To define the forms method
(¢c) To create a submit button
(d) 'To create a radio button



3. The Cookie manipulation is done using which
property?

(a) cookie (b) cookies

(¢©) manipulate (d) manipulate cookie
4. What is the purpose of the SqlDataReader class in

ASP.NET?

(a) To read data from a SQL Server database

(b) To store user data

(¢) To handle wuser authentication and
authorization

(d) To define application-level events and

settings
5. Which of the function is used to check textbox only
contain number?
(a) char.IsDigit
(b) char.IsLetter
(¢) char.IsNumber
(d) char.IsLetterOrDigit
(B) Fill in the blanks : Gx1=§ i
6. contains web application settings.
f control does not exist in asp.net.
8. types of cookies are there.

9 ol NG §




10.

I1.

11.

13.

14.

15.

16.

7.

A control of defaults to displaying the
files in the current directory.

is the default Session data is stored in
ASP Net.

Answer ALL questions : (5x2=10)

What is ASP?

What is a Form collection?
What is a cookie?

What i1s Connection Object?

What 1s Connection String?
PART B — (5 x 5 = 25)

Answer ALL questions, choosing either (a)ﬁ (b).

(a) Explain ASP Web Forms Model.

Or
(b) Explain the different stages -’ £
Mg =8

(a) How will you retrieve form data’
with example. =

(b) Write short notes on OBJEC .-




18.

198

20.

21.
22,

23.

24.

25.

(a) How will you create cookies? Explain with its
code.

Or

(b) Write down the steps involved in connecting
MS Access Database.

(a) List down the OLEDB providers with their

usage.
Or

(b) Write Short notes on Connection objects.

(@) Explain various stored procedures in SQL

server.
Or
(b) How  will you  retrieve parameter
~ information?

PART C — (3 x 10 = 30)

b e briefly about the steps involved in
con g MS Access DB.

briefly about the execution of SQL
with connection object.

efly about executing stored procedures
1mand objects. -

4 S.No. 7159




S.No. 7728 22 SCACAP 2

(For candidates admitted from 2022-2023 onwards)

B.Sc. DEGREE EXAMINATION, APRIL 2024
Part I1I — Allied
COMPUTER AND ORGANIZATION ARCHITECTURE
Time : Three hours Maximum : 75 marks
PART A — (20 marks)

Answer ALL questions

L. (A)  Multiple choice questions : (6x1=25)
)i A bus that connects major computer components is
called as
(a) Data bus (b) System bus
(¢ Address bus (d) Control line

2. A digital device that uses the same logic elements
used in the processor

@ SRAM ; ®) DRAM
© ROM (d EROM




S.No. 7728 22 SCACAP 2

(For candidates admitted from 2022-2023 onwards)

B.Sc. DEGREE EXAMINATION, APRIL 2024
Part IIT — Allied

COMPUTER AND ORGANIZATION ARCHITECTURE

Time : Three hours Maximum : 75 marks
PART A — (20 marks)

- Answer ALL questions

13 (A) Multiple choice questions : (5x 1=25)
1. A bus that connects major computer components is
called as
(a) Data bus (b) System bus
(c) Address bus (d) Control line

2. A digital device that uses the same logic elements
used in the processor

(a) SRAM | (b) DRAM
(¢ ROM (d) EROM




:-fl

10.

e 18 used to activate periphey
al
tells what to do. and

(@ Write (b) Read
() Test (d) Control

Which registers used only to hold data and canpgt

be employed in the calculation of an operand
address.

(@) General purpose register
(b) Data register

(¢) Address register

(d) Indirect register

Uniprocessors fall into

(a) SISD (b) SIMD
(c) MISD (d) MIMD
(B) Fill in the blanks : (5 x1=5)

performs some arithmetic or logic
operation on data.

The cache consist of in blocks called as

An external device connected to an I/o module is
often referred as |

One or more bits in the instruction format can be
used as a field. ; '

The measure of performance for a processor is

rate at which it execute instruction can
expressed as 3




1. Short questions : (5 x 2 =10)
11.  What is meant by bus in a computer?

(2. Write any two properties of semiconductor
memory.

(3. State the draw backs of programmed I/o.
14. What is fetch cycle?
15. Differentiate between thread and process.
PART B — (6 X 5 = 25)
Answer ALL questions, choosing either (a) or (b)
16. (a) Explain organization and architecture.
Or

(b) State the functions of computer system
architecture elaborately. '

17. (a) Elucidate the characteristics of memory
system. -

Or
(b) Explain the different types of ROM in brief.

18. (a) Illustrate the category of external devices.
Or

(b) List out the drawbacks of programmed and
interrupt driven l/o. ,_

3 S.No. 7728



9.

20.

24,

25.

(@) Explain the requirements of Register
organization,

Or

(b) What are control signals in processors?
Discuss.

(@) Discuss the types of parallel processor

system.
Or
(b)  Mention the advantages of a vector processor
in detail.

PART C — (3 x 10 = 30)
Answer any THREE questions.
Describe the detail about structures and function.
Explain the three types of error correction.

With a neat block diagram discuss the functions of
DMA.

Discuss in detail about micro operations. How
does it serve as guide in the control unit.

Give an account of non uniform memory access in
detail.

3  SNo.T72



S.No. 8368 T 22 CNMECM 4

(For candidates admitted from 2022-2023 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.
Part IV — Commerce — Non Major Elective
SALESMANSHIP

Time : Three hours Maximum : 75 marks

PART A — (20 marks)

Ansgwer ALL the questions.

. (A) Choose the correct answer from the
following: 5x1=5)
1. Geunplsyworen 'Gt‘ﬂj)usmsmu_xrrm@és@ @emdlwewwing
F&3 erere ?
(2)) 2amCBT&sLD (<) L&EFTSTULD

@) epdupp setew (m) GApdipeldnerio

What quality is essential for a successful
salesperson? -

(a) Introversion (b) Empathy

(¢) Indecisiveness (d) Inflexibility




T T E, . T

o mey ellpuenarufes SminSuieny erebren s
(D) GG STe HEUTD

() Werblgmrged @eemento

(@)  wileun Sgenan Loeut blene

(1) peri sre @ivuamfiloy

What is a characteristic of relationship selling?
(@)  Short-term focus

(b) Lack of follow-up

(¢) Transactional mindset

(d)  Long-term commitment

.

cHlpueanunert eflhuemeranw heums erhsé Qe
Curgieunas GOI&E DG ?

(@) dops Caerelsamens Cal Lig)
(<24) %LG&ummas@és@ (pest

SET(EH LI Senar
QULD I (&G 6
(@) peenwaemer F(H&E aflHueererws
2 DEULGSEIHD “
() saw Qgmiirenu HellriiLg) ~-

Which action typicall

y indicates a salesperson is
closing a sale?

(a) Asking open-ended questions
(b)  Offering discounts before objections

(¢) Summarizing benefits and confirming
sale :

(d) Avoiding eye contact



gafliucL.  elpuemende  dlpumens  GrGgsw
eTeueum o o dlement ?

(@) elpueenr  eumlliysemer  SI(HL(Bdg eusent
LpEILD

(@) amild@enr Cumiigeamw Hafliuges epeid

(@) et @&H&ESEH LHHD seueTd - ElweuHED
Guibu@dGieuger epaLd

(FF)  @égienplenl 2aésLL(hEgelSen peLd

How do sales terl:itories help in personal selling?
(a) By limiting sales opportunities

(b) By increasing competition within the team
(¢) By optimizing resource alldcation and focus
(d) By discouraging collaboration

hueen L Hlifeurssden wpsdlu @;Lbstb GTEITEHT ?
(1) @ Qewadpman Lpssaflsse

() sefluulL  argamarsaile  wWLECL sueand
Cegbgipd

(@) eflpuemens @GuelnE aflsr_@sd wHHID _'
HTMES QPGS 5

() &Y @ss@mprau eiliug) .
3 S.No. 8368 T
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What is a key aspect of sales force management?

(@) Ignoring team performance
(b)  Focusing solely on individual achievements

(¢)  Providing guidance and support to the saleg

I PR ST R WL B D e

team i'
(d)  Avoiding team collaboration ,!
(B) Fill in the blanks : (5x 1=5) f
godluorer  QuImT ssaum  euiEas wHYL
UTgs@sUTETT  somasmer  Heiss Osiieugy 3:
&Sl Huenarwimeri e @)t o® 0
LEAUTELD. :

Providing accurate product information and

addressing customer concerns are part of a
salesperson’s

clpumar Qewdweapular g Uig
2 GLD.

The first step in the selling process is

L i L SR T

aﬁ]ﬂ)ummé QEU.JG'DLJTTL'_IQ_GET ﬁlmwwnmﬂ '
panaiosmen shédl, amgsmswinatear aunii@GusH®
UpLmISSIeE 2 der &@Hngy.

The stage of the sales process invol $
summarizing benefits and persuading th
customer to make a purchase.

4 SNo.836s



What is a key aspect of sales force management?

(a) Ignoring team performance
(b) Focusing solely on individual achievementg

(¢)  Providing guidance and support to the

saleg
team _

(d) Avoiding team collaboration

(B) Fill in the blanks :

godlwworer Qurmer sseue QUPRIGAS  HHID
QUTREMSWTETT  SeUueGeneT ,ﬂmﬁg@ Q&ulla:l@"'"'
eflpuenerwimerfen @ein
uGSHwm@Lb. - |

Providing accurate product information &nd
addressing customer concerns are part of B
salesperson’s

dipuemer Aswdgmpiear s Uiy
BGID-

The first step in the selling process is

allpuenans Qewidum i e e
BATDWE®ET &(HES, QY &EMsWTeTany Gumﬂ &
uhLmISgeg o aTaTL &G &lmgy.

The stage of the sales proeess__'_'; ok
summarizing benefits and persuading
customer to make a purchase




} L}
.
10,
IL
11

cugiee  Qurger s gfsensy  Qgmotdfwren
i \DDQID  WENQHD & QmipS
shaadE adu  amgdeswuret  SpuugGetesd
Caeau@pg.

Effective product strategies require continuous
e and adaptation to changing market
dynamics and customer preferences.

umgm Spueaes  ueL  Cuerarewss
QatuueL gsaraw,  Quipuydsapd®d  wHHIL

wyQapuuagn  Qeudseigid
m;mm soLUQuUE Seflwb.

Effective sales force management requires
transparency, accountability, and adherence to
standards in decision-making and

actions. |
Answer ALL the qnesm o) .' Gx2= lﬂ)

iy
LA \

L Sk

Spuee aeprd awwr




13.  dlpueeander oy Gsumansamer MG WLITET 6L &6t
WPéEuggiougamss sap).

State the significance of handling objections in

selling?
14.  ellpuenent UrCseid TOMVEEET GrliLlg
QUEN TWIMISSHEITLD ?

How can sales territory boundaries be defined?

15, dipueany ue Cuararemwouls Apdlupanser ger
Wp&Swbd ?

- Why ethics is important in sales force
management?

PART B — (56 x 5 = 25)
Answer ALL questions, choosing either (a) or (b).

16. (=) Qeupdsywmrer aﬁlmummu_lrrm@é;@ GTEHET
GehiseT Seudlwid, Guogibd oieey eraiaim
cipuemer Qewodpandss Lkisalédaper?

- What qualities are essential for a successful

salesperson, and how do they contribute to .
sales effectiveness? '

Or v
6 S.No.8368T
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18.

(<)

eflpuener  eudpiaser srsdr  Gurfliyser
g GCsmeusener updlu  ppewwTE
yflsmes Oamemiymuug eer (paélwb?

Why is it important for sales professionals to
possess a thorough understanding of their
products or services?

puemer  Qeweurigd  euTg&EMSWTeTT
adlrurruyseer  yflbg  Camdteug  gen
(WPp&EWLDTETS ?

Why is an understanding customer
expectation crucial in the selling process?

Or

ufleugsenen  &mibg  edduemer LOHMID 2 Dey
ahuemander elpuemar GUOQIBTEET  SRIGET
SIS (PODELI GTEUAUTD DTHDILIOESDTEET ?

How do sales professiohals adapt their
approach in transaction-oriented selling
versus relationship selling?

o udwu swrfliy Qeefllilghaerer ellfleurear
dpuear  HLLHMS 2 (HUTEGeUSDHSTET
Uiy &6 6leTé &s.

Explain the steps involved in developing a
comprehensive sales plan for a new product
launch.

Or

7. . SNo 8368 T




19.

20.

1
<)

(<31)

@B vwu@aer swurfluy  uPrisd SO
Qewd ellorded pueer Qewdeepeawy
ey undadpg ?

How does an effective product presentation
or demonstration influence the sales process?

dpuears QrGss Airaunssdear Deraraniude
uwigyeTer swrfiuy o s flseen
L pauns@aughster  w&Aw ulfoeearsamer
Sleré@s.

Explain the key considerations for creating
effective product strategies in the context of
sales territory management.

Or

CGumly oo Hiemud wHDIDL  elpueer
Uoarew  siflsflés  ader 2 g
vweTu@gstiubHSetpen ?

What strategies are employed to ensure

competitive pricing and maximize sales
revenue?

QrulSL® slLewlyser wHmIL  Apuenar

-

ueLbster  eaéasQsTessamen Hiremufaen

Cung amsde Qamerer Cauamgw sryeflseer
el @s. _

Explain the factors should be considered 4
when determining compensation structures

and incentives for sales force.

Or




g R

dpueer Gewddpar wHmD GCeuddpener
Qus@eudle <bley GCuerameamn e LkE
cudl &8 08 ?

iy
(<2b/

What role does knowledge management play
in driving sales effectiveness and
performance?

PART C — (3 x 10 = 30)

Answer any THREE questions.

dApumende Qurgerss sramiu@b UG
aemswrar edpuemanurerigaar uhp eleurd.

Discuss the different types of salespersons
commonly found in the sales.

puemersd  GQewdUTiged 2.@mer  aUTULL&EmET
LflbgQardToushaTar  (PESILILTET  QSTTRIGmET
eflend .

Explain the important sources for understanding
prospects in the selling process.

Aipumer  euo@BTgeT  allhLemaranul SobuL
whauspEd, amiuysadobg 2pfuures
omd QeueushH@b earar  25flseT  LHYD
B UBs®eT LweTU(HSSemd ?

What strategies and techniques can sales
professionals utilize to effectively close sales and
secure commitments from prospects?

9 e S.No. 8368 T




24.

ro
(o] |

Yl Huenen Q6L | HITHGIT T G QPG D651k 5 ¢y

: o v OOHID
<}, 63T 6 6V 6bT & 61Tk & 61 6T GUITUI LI L & @it U)fb@]ub
aurgs@swraTis@p e Qgriiysrerer 2 D6ySener
2 (HUTESQYLD, [~  B&HEUG M&ﬁ,é}ﬁb Qﬁllbumﬁmmm

s dsfNEseyd Lwery O&&18 nriraser,

How do sales professionals utilize social media

and online platforms to engage with prospects ang
customers, build relationships, and dyi

ve sales in
the information age?

seluulL  Campmid Umgsemswrerier  eramentin
LPDIL  BELEGOSHSW eueTTULS)  ereme LIk (s,
wdlsdpg.

What role does personal appearance play in

influencing customer perceptions and building
trust?

10




S.No. 7132 16 SMBECA 2:3/
16 SCCIT 8

(For candidates admitted from 2016-2021 batch)

B.C.A./B.Sc. DEGREE EXAMINATION, APRIL 2024.

Part IIT — Mobile Computing — Major / Major Based
Elective

COMPUTER APPLICATIONS / INFORMATION
TECHNOLOGY

Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20)
Answer ALL the questions.

1.  Distinguish between Mobile computing and
wireless Network.

2. What is Data Dissemination?

3. Define Smart System.

4. What are the types of ad hoe networks?
5. What is GSM?

6. Define GPRS,



10.

1L

13.

What is Dynamic [nput Addressing?
Write the role of Mobile Agent.

Define Memory Management.

What is the difference between windows XP and
Windows CE?

PART B — (56 x 5 = 25)
Answer ALL questions, choosing either (a) or (b).

(a) Discuss the limitations of Mobile computing.

Or

(b) Explain mobile communication network with
example,

(a) List out the imitations of mobile and
handheld devices.

Or

(b) Ilustrate the keyv differences between sensors
and actuators,

(a) Write about GSM protocols.

Or

(b) Explain in detail about handover mechanism
with its types.

2 S.No. 7132

14.

15.

16.

175

18.

15,

20,

(a) What do you mean by data synchronization in
mobile computing system?

Or

(b) Write short notes on mobile file system.

(a) What are the functions of network operating

system?
Or
(b) Discuss the design issues in mobile operating
system.

PART C— (3 x 10 = 30)
Answer any THREE out of Five questions.

Explain the architecture of mobile computing.

Discuss the technology and features involved in
smart phones,

Explain about the GPRS protocol architecture in
detail. '

Explain the system architecture of GSM with
suitable diagram.

Explain the functional differences of Palm 0S and
Symbian OS.

3 S.No. 7132
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S.No. 7130 16 SCCCA 9/16 SCCCS 9/
16 SMBEIT 2:2

(For candidates admitted from 2016—2021 batch)
B.C.A/B.Se. DEGREE EXAMINATION, APRIL 2024.

Part I1I — Computer Application/Computer Science/
Information Technology — Major

PROGRAMMING IN PHP

Time : Three hours Maximum : 75 marks .

PART A — (10 % 2 = 20)
Answer ALL the questions.
Define PHP variables.
What is the user of rsort function?
How to create and include files in PHP?
How to get the name of the current script?
List down the access modifiers.

Give on example for creating class constants.

R S SO AT

Write down the syntax for getting file size.



7

7

8.

9.

A0.

11,

12,

13.

‘ How to set cookies in PHP?
Expand Ajax and define.
Write the syntax to draw a line.
PART B — (5 x 5 = 25)

Answer ALL questions, choosing either (a) or (b).

(2) Explain the basic data types in PHP.
Or
(b) Explain briefly about flow control statements
in PHP,
(@) Discuss briefly about functions in PHP with
* example,
~ Or
(b) Write short notes on event handling
attributes,

(a) Write short notes on Constructor function
with example.

Or
(b) Explain the concept of Overloading method

with example.

2 S.No. 7130

14.

15.

16.

17.

18.

19.

20.

(a) Write short notes on Cookies.
Or
(b) Write any five FTP functions in PHP.

(a) Explain with the code to download images

using Ajax.
Or
(b) Name the functions to create graphics on the
Server.

PART C — (3 x 10 = 30)
Answer any THREE out of Five questions.

Explain the steps to
PHP program with example.

create and run a

Discuss on HTTP headers and how to redirect
Browsers with headers.

Discuss the concept of Destructor with example
program.

How to creates, access and destroy sessions in
PHP with example?

Explain with its steps to pass data to the server
with POST.

3 S.No. 7130




S.No. 8074 T UGGS

(For candidates admitted from 2009-2010 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.
Part IV — Gender Studies
umallar #wsgeulbd

Time : Three hours Maximum : 75 marks

Answer ALL questions, choosing either (a) or (b).
(5 x 15 = 75)

L (@) wurdler eul@flwd Biemubd @flss qm s ey
GUED&.

Write an essay on sex-gender Biological

determinism.
Or
() urellen Gfley Gsmferaisd LpD CsrEss
efilarnd 5.

Elucidate and ex;:;lain of gender divisions of
labour,



(1)

(<)

(<21)

(<)

(<)

Quasssr wHmb urdler weysafia VII eug
Aligfer vdswsss wrallusepeilen
uflar e Ly Siger Lkies Bl

Distinguished the role of UGC guidelines of
VII plan in Women's Vs Gender studies.

Or
ureller  swggead  GHsH  Quingnder
smssTRIEMmar s,

Examine the Gender studies in the Beijing
conference.

earL &b wHnD Sirflweller Lrellar LmELTL L
Hlemdl.

Distinguished the gender discrimination in
the media and politics.

Or

urallwie, s nssd Gflss eag unieme
aretren 7

What is your own view on Sexual
Harassment?

Quamser  auaréflifley uamemTi@ FeTISD
©Gisa s Har amrs.

Write an essay on women development in
the International Women'’s Decade.

Or

2 S.No. 8074 T

(<)

(<21)

(<)

Quens @néE siBlsmmb seflssb Qandaseu
aflaul,

Describe in the policy of Empowerment of
women.

“GObu po FHwapw Comawr 2" s,
“Need Family Court” — Examine.

Or
wrfle Quarsdr Haarub s Meaurd.

Discuss State Commission for women.

3 S.No. 8074 T



S.No. 8059 23 LGT 2

(For candidates admitted from 2023-24 onwards)

U.G. DEGREE EXAMINATION, APRIL 2024.

Part I —- S0P

SO @esHw eurerm — 2

Time : Three hours Maximum : 75 marks

o

UGS < — (20 wHuLudaTsar)
SN &TSHG aTTESEhsEHD N &(Hs.

(=) sflumer  elewLaows GCasrbOsbhss (WSS
B x1=25)

2 PSS UILTL () T SAMPSSLILHD BT 6T 2
(=) G TP () deE@a
(@) Wp&amLHLGTER (FF)  &TABITHLG

GU TGUTIJ Ml & GIT 'asenﬂassmmu u@g@ m@m@m@é;
Gl&T(H S e ?

(<)  WTEness et (<)) UDEEUSET

(@) (PweLSET (/F)  Quesr (&Tmi@ser

2lbenals CuyTLgHH@& g Casradlweui Wiy,
(<21) G (=) @bHyr smHl
(@) srhdluligser (rr)  Gudlwim




=

=1

10.
I

11.
12.

13.

14.

15.

Grarmbd 2 wasslp LIFIEH e bLbss?
(=) wgery (<) Qeemenar

@) Smed () Casmeneu
Cunile LweTLEsEL sEmalllioas s s
(1) eumer (<) eurdd

@ amp (FF)  sa@lieny

() Csmel L @uiisamar Hiyuys. (hx1=5)

sllife Gsrerflu @pse sabUs HH

2BED. y

——— e sb QUMGTHEHET  LSTSLIg
Gepdlermer eumlcvsenar g,

shglb dpsasie awssrers b  UTSHTD
grgr  grenfl  eemeyd  prLss®s  erpdwei
Venerable erémuigen s8lips Qemed

cUn&engaefla
(6 x2=10)

Garaumnd  dlamés@ss  efm

ailenL 5(ms.

SbsTd — Gassamd &Hs.
ssglpgsiymair  prenpuilar @dlanar  areusumy
au(menflggarammi

eiLmeug i eudTEneundE mausss Carfléams
GT 6bTem 7

o wit gaflé Gewbomd aayb s Haraw erpdueurr
WITTT 7 <607 (5 ?

afl, gl - Qunmer Caumumn yemand &ms.
2 S.No. 8059

uEH @ — (5% 5=25)

Smaisg dlamsaEnsGL G Lss SeTaild oL 555,

16.

17.

18.

19.

(@) 2er Qesdub @iluy eumrs.
EEN)
(<) safluurid il @ilsa awss.

(=) eSgrraeufer LrLeSléd Gaefluu@w
Qembdinsems @uibs.
(Speveug))
(<) srerGusliyeafler SiCaen s penants
Haouubissis.
(1) umydlgraen Slpsasew Geuaflude
S ENPSSSDETET STTERTLD Fnfl)&.
(Seveg))
(=) &6 LD GHTEn 6mT s EHTES Couamigwger

Sedlusens 1p.eu. sgssdlen el 2 anisgs.
(o) Gawasstll -  Heojuusdar  sesu
QurmaTawbew E(Wss.
(SHebevg))
(=) uildom) seafda sOBALMEL upNear
Quibys.
(=) Qemer Caumur® sifls.

1) g - euEy
(11) aumfl — curefl

(i)  eupUILID — eueTUb

) e — euefl
v)  euaed — cudraf
(SHbavg))
3 S.No. 8059



(<) Ppmdles OCeromse @oamurar  solps
CFTLEME GT(LPSIS.

(i) Content = (i) Ecology
" (iil) Provider (iv) Scream

(v) Reflection

uEd @ — (3 x 10 = 30)

ereneuGuigy b .@Ghm@)M@ s 0T euigedled eflenl &(ma.

-21.

22.

23.
24.

25.

L8586 ang ull 6ot CarmmLb auaTiés) G
G (henT&s. |
QJLburn_L'Ju@@ gpsﬁﬂuurn_cbasaﬂsh - QumpETan g
Spibeer cleréEs.

&lq B flmsamsuilen &mssTSMmS d@g@mqé;éﬁ;
sghewgs  Cuflumfler  umrepeuuded &l(m& & EHLDd

swflureanswn o rmiis.

SOIPTESED Qauis.

Honesty means to be truthful for a person in all
the aspects of life. It involves to not to tell lie to
anybody, never hurt anyone through bad habits,
activities or behaviour. Honest person never gets
involved in the activities that are morally wrong.
Honesty is to not break any rule and regulation,
be in discipline, behave well, speak truth, be
punctual and help others honestly. Being honest
helps a person to get trust of all in the
surrounding lot of happiness, blessings from
Supreme power, and many more things.

4 S.No. 8059



.S.No. 8095 923 ELGE 2

(For candidates admitted from 2023—-2024 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024.
~ Part Il — English |
- GENERAL ENGLISH

Time : Three hours Maximum : 75 marks

PART A — (20 marks)

Answer ALL questions.
I. (A) Multiple choice questions. b x1=5)
1. Who among the following authored the poem

“Still Here”? .
(@) Langston Hughes (b) Edgar Allan Poe

_(c) Jimmy Osborne (d) Lord Byron

2. The story The Lady or The Tiger, begins with

whom?
(a) civilian (h) king
(c) servant | (d) knight
3. Who is an Indian engineering teacher and author

in Kannada and English?
(a) Arundhathj Roy  (b) Kamala Das
(®) Sudha Murthy - (d) Anita Desai

- —



10.

II.

11.

12.

(a) e-mail

She wakes up early in the morning, find the tense
of the sentence.

(b) past
(d) present

(a) concord
(c) future
What is a method of transmitting and receiving
messages using electronic devices?

(b) e-search

(c) e-commerce (d) e-shopping

(B) Fill in the blanks: (bx1=5)

According to Edgar A, Guest, When the funds are
low and debts are —2iclh

. . .I / [II =11
Two roads diverged in a —£¢1.24  wood.

Kalam grew up-inf.'.- Weswiuyor a small town in

Tamil Nadu, India.

tense talks about action done in the
past.

Memorandum is also known as

Descriptive type questions. (5 x 2=10)

Explain hope and responsibility as themes in
R.K. Narayan's Engine Trouble.

What is the tone of The Lady or the Tiger?
2 S.No. 8095

13.

14.

15.

16.

17.

What is a moral of the story How I taught my
grandmother to read?

Explain structure of framing sentences in present
tense.

Discuss the contents included in making a
circular.

PART B — (5 x 5= 25)

Answer ALL questions.
(a) What does the poet suggest doing instead of
quitting? E
Or
(b) Discuss writing style of Edgar Guest in
Don’t Quit.

(a) Describe the two roads that Robert Frost
comes across.

Or
(b) Write themes Robert Frost used in The Road
Not Taken.
(a) What is the summary of Wings of Fire?
Or
(b) Explain autobiographical elements in Wings
of Fire.
3 S.No. 8095




19

20.

21,

22.

23.

24.
25.

(a) Write the difference between present and

future tense.
Or

(b) Discuss the formula of future perfect
continuous tense. |

(a) Explain the process of making a memo.
Or

() Discover structure of drafting an email.
PART C — (3 x 10 = 30)

Answer any THREE out of Five questions.

What is Rip Van Winkle’s most important problem
at the beginning of the story?

Identify and illustrate the types of imagery used
in D. H. Lawrence’s “The Snake”.

Write a brief note on the settings of How Frog
went to Heaven. |

- Explain concord with examples.

Draft an email to your employees about the
meeting which is to be held in your department
and send CC to your Manager. ‘

4 | S.No. 8095
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S.No. 7147 22 SCCDS 2

(For candidates admitted from 2022-2023 onwards)

B.Sc. DEGREE EXAMINATION, APRIL 2024.

Part IIT — Data Science — Major

PYTHON PROGRAMMING

Time : Three hours Maximum : 75 marks

PART A — (20 marks)

Answer ALL questions.
I. - (A) Multiple Choice questions. (5x1=25)
T In Python, what is inheritance?
(a) The process of creating a new class from an
existing class '
(b) The process of creating a new object from an
existing object
(¢) The process of creating a new function from

(d)

an existing function

The process of creating a new module from an
existing module

-

How can you check if a substring is present in a
given string in Python?

(a) Using the “substring()” function
(b) Using the “in” keyword

(©)

Using the “contains()” function

(d) TUsing the “index()” function

" What is a key-value pair in a Python dictionary?

(a) A key-value pair is a single element in a

(b)
(c)
(d)

dictionary that consists of a key and its
corresponding value

A key-value pair is a pair of keys that have
the same value in a dictionary

A key-value pair is a pair of values that have
the same key in a dictionary

A key-value pair is a pair of dictionaries that
have the same keys

What is the difference between a parameter and
an argument in a Python function?

(a)

(b)

©]
(d)

A parameter is a variable defined in the
function signature while an argument is a
value passed to the function when it is called
A parameter is a value passed to the function
when it is called while an argument is a
variable defined in the function signature

A parameter and an argument are the same
thing

A parameter is a value that is returned by
the function while an argument is a value
passed to the function when it is called

92 S.No. 7147
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- .

5.

10.

II.

11.

12,

What is the name of the Python library commonly
used for data analysis?
(a) NumPy
(c) Pandas

(b) Matplotlib
(d) SciPy

(B) Fill in the blanks. (5 x 1=25)

The method in a Python class is
automatically called when an object is created

from the class.

Use the operator in Python to
calculate the remainder of two numbers.

In Python, a list is an example of a '
data type, which means it can store elements of

different data types.

In Python, modules can .be organized into
which are directories containing a
collection of related modules.

A is a two-dimensional labeled data
structure in pandas.

Descriptive Questions: (5x2=10)

What is a class in Python and how is it different
from an object?

What is standard output in Python, and how is it
used?

3 S.No. 7147

13. How can you access elements of a tuple in Python?

14. What is the difference between reading a tile in
text mode and binary mode in Python?

How can you load data from a CSV file into a

” Pandas data frame in Python?
PART B — (5 x 5 =25)
_ Answer ALL questions.
16. (a) Explain how instance methods work in

Python. How do they differ from class
methods and static methods?
Or

(b) Explain how inheritance works in Python.
What is the difference between a parent class
and a child class?

17. (a) What are the advantages and disadvantages
of using an interpreter compared to- a
compiler?

Or

(b) What is Python IDLE? Describe some of its
features and functionalities.

4 S.No. 7147
[P.T.O]



18.

19.

20.

21

(a) Describe some operations

(b)

(a)

(b)

(a)

(b)

performed on tuples.
Or

Describe some operations
performed on sets.

that can be

What are variables in Python? How are they
declared and assigned values?

Or
What is variable scope in Python? Describe
the difference between local and global
variables.

What is NumPy in Python? Describe some
key features and functions provided by
NumPy that are commonly used in data

analysis.
Or

What is pandas in Python? Describe some key
features and functions provided by pandas.

PART C — (3 x 10 = 30)

Answer any THREE questions.

What is Polymorphism? How is it implemented in

that can be

23.

24.

25.

Illustrate list methods and built-in functions of
Python.

Describe about File Exceptions in detail.

Describe the data manipulation with python.

Python?

Examine the Strings and String Literals in

Python.
6 S.No. 7147
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(6 pages) : 3.  Lengthof (1,1,1) is
S.No. 7715 22 SCACMM 4 B i AR B o
(For candidates admitted from 2022-2023 onwards) (c) 1 (d) None

B.Sc. DEGREE EXAMINATION, APRIL 2024. 4. If T is a trivial linear transformation then

Part III — Allied TV =
MATHEMATICS - II (@) © ® 1
Time : Three hours Maximum : 75 marks (© v (d) None
PART A — (20 marks) T

1. 41
5.  Eigen values of {0 9] is
Answer ALL gquestions. '

. C oo 1, s}
L (A) Choose the correct answer. (5x1=5) (@ L9 (b)
g -1 .2 (¢ L-9 (d) None
1. Therankof -6 2 -4|is . o
- S ! 3 1 2 (B) Fill in the blanks. (3x1=5)
[ =
B 4 L 6. System of linear equations can be written as
() 3 (d) None

In a vector space (~a)v =
(a) —(zv) (b) av
© (~a)(-v) (d) None

7. Theset {(1,3,2), (2 1,3)} is

S.No. 7715

(&)



16.

If S is an orthonormal set then fxf=__.,

for all x.
Rangeof T':V - W is

If Z is an eigen value of A then the eigen value of
A7 is

Answer ALL gquestions. (5x2=10)
Define elementary matrix.

Define basis .qf a vector space.

Prove jx{ >0 and x| =0 x=0.

Define linear transformation.

Find the eigen values of {f: ﬂ

PART B — (5 x 5=25)
Answer ALL questions.

(a) Show that x+y+z=6;x+2y+3z=14 and
x+4y+Tz=30 are consistent and solve
them.

Or

(b) Solve 2x+3y-z=54x+4y-32=3 and

2x -3y + 2z =13 by Gauss elimination method.

3 S.No. 7715

1¥;

18.

19.

(b)

(a)

(b)

(2)

(b)

Find the dimension of the subspace spanned
by S=1{1,2,-3),(0,0,1), (-1, 2, 1)y in V(R).
Or

Prove that in a vector space V,a ncnempty
subset w of v is a subspace < u, vew and

a,feF>au+pPvew.

Find "the component c¢ and projection of
v=(1,-1,2) along w=(0,1,1) in R*.
Or

Find cosé for the angle 8 between u =(5,1)
and v=(-2, 3).

Prove that T:R®* 3 R* defined by
T(a,b)=(2a-3b,a+4b) is a
transformation.

linear

Or

If T(a+bx+ex*)=a+b(x+1)+e(x+1) find
the matrix m(T) with respect to the basis

1,1+x, 1+x°.

14 S.No. 7715
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21.

22,

23.

2 2 '
(a) Prove that A= [1 3} is diagonalizable. Find
P with P'AP is diagonal.

Or

(b) Show that similar matrix have same eigen

values.
PART C — (3 x 10 = 30)
Answér any .'I‘HREE questions.
3 -1 1

-15 6
5 -2 2

Find thé inverse of

elimination method.

State and prove the addition, scalar multiplication

properties of vector spaces.

Prove that every finite dimensional inner product

~ space has an orthonormal basis.

5 S.No. 7715

—5| by Gauss

24.

25.

Explain the relation between the matrices of
linear transformation having two different basis.

Explain how eigen values and eigen vectors are
applied in differential equations.

6 S.No. 7715
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1.

22 LCH 2

(For candidates admitted from 2022-2023 onwards)

U.G. DEGREE EXAMINATION, APRIL 2024.

Part I — Hindi

COMPREHENSION, NOVEL, ONE ACT PLAY
AND GRAMMAR - 1I1

Time : Three hours

Maximum : 75 marks

SECTION A — (20 Marks)

A) @t gl & I fafgu:-

e frad @R war 917

(a) go ®
(o) i (d)
FOFEE FT HTH HT A7

(@) T _ (b)
(¢ fera - (d
TATER FETE 61 el S 87
(a) G (b)

(c) AT (4

(5x1=5)

10.

I1.

11.

12.

13.

3 €ush fee @ ) = e
(a) whart ®)

() Fag @ eF

ESop Ul % frarsh = TH FTRY
@ e (®)
(© & T (@

(B) @Eﬁ:ims ufwy

#mmﬁﬁammﬁm——————

e —— Wehieh! ol I &l
F = hl famm ————— )

ﬁmwﬂ%ﬁmz——————m

AT —————— I T 8

| é\ﬂmﬁ%agmﬁrﬁiw—

Ymeg & 9R § 9R 9 fafean)
Iian % o) § =R T fataw)
TerdT e Thieh I YIg Fasy|

2

w0 fig

{6% 1=75)

Gx2=10) -
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14. 3cFA UHIH! HT LT 187

15. T fordtwor i wivaren fRY e € 7w e R
SECTION B — (5 x 5 =25)
ity ¥ I Rl

16. "< mfga =men ik

(a) <t faw g 38 & gretd areET 3w g,

3R aegge € gre T e

a1

(b) “or =wfEEM 3R $HHeR et & TEifa § @
g

17. g afgq sawe Hifva
(a) W@Mﬂuﬁﬁ@msﬁmﬁﬁnﬂmﬁ

3 fopm arfEan =1 Suew ¢
Bl
) “afa % frafo w@red % g 7@, wod % foe g
arfgul”
18. (a) @ i =fE faw Hfse
qAr

(b) we fig =i frdraed w s e

3 S.No. 8031

19.

20.

(a) HETEEl Pl AMSC

s @ - wm; =
5 E
mﬁgrﬁama'(ml zgﬁawﬁm\'
W A A - e IR R
T gt &
%9 6 A = @%mﬁﬂﬁm
& B -
#5 6) Td A - AN R H A

q0

) ‘I @ T ER $I A H A A H
oy Hfv)

(a) el S
afi R - e FEREE
I TS EE - FWH B E AR

e
o % am ot - onh wgE F AR
ERL| R
JAA H AW TG R - QA )
SR E R - s R e @
e &
1
(b) % % g A SIS P S BT
4 S.No. 8031
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SECTION C — (3 x 10 = 30)
foegl oyt & e Rerfiau

. QA Uh Hhe 39 R, firg hifdrg)

2. Qe 9= h gl Hif)
3. FYT THIh! Hhl et g

AT I Thish! T T fo tle’-Icﬁ a9 ferfgu

Fges AET ( Comprehensmn)

%@ﬁﬁaﬁwmﬁﬁwmmlgm

TR ST St T yEe @S- g 3 d
T o T 21 93 Tl R w1 21 Fm w F du g9
feeran dfse Sﬁﬁﬁﬁfﬁmﬁfﬁﬁwﬁm—cﬁﬁrw |
98 3T 9gd| F 9 - zﬁméaﬁmaﬁmﬁﬁw
I ST R, $EfT 98 AU R § 39 e @ w T8
gn wg@mﬁagﬁmﬁq@% % qF &I
T oft T wE TR A1 3 @ A qu w3 a7
el 3% 3@ & e R @ Iawt s fea
3TN AR he1 GAR HEedr B Wi B wR Y o
&l Argt el ‘TS, <oed 4 &9 @ AN 2, 3afie 39
W 3G i3 IFUHR 781 2] fee fagrd 3 59 w1 7 @
Wélmwwmm%xmmﬁ@

{9 arert g0 @81 217 YaIed 3 heEl- &, TvEidh
1 e T e 1 S e 2 e Y o ¥ g

gt 21 gafere 9 frem # 3w vahl wfrgrd @ st
2| fagmd, @' €9 grema gam|

5
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gel & I fifay)
' (a) ﬁ"@?j
. 6 ard

(b) QT % 4 ;:::{EH ' ﬂm]

: . - HATY?

| (d) ::Zﬁg:@a’:ﬂm %? . %?

~(e) wm

T ——
. ?

“(® Wﬁmﬁww%?
AT 3fea shiden fﬂﬁm
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S.No. 8104 22 PELPS 1

(For candidates admitted from 2022-2023 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024,
Part IIT — Professional English

PROFESSIONAL ENGLISH FOR PHYSICAL
SCIENCES -1 |

~ Time : Three hours Maximum : 75 marks

PART A — (20 marks)
L (A) Choose the best answer: 5 x1=5)

1. When you leave a message in someone’s voicemail,
what is most important?

(a) Say the date and time

(b) Say your telephone number
(c) Ask to call back

(d) Ask not to call back

2. Role-playing scenarios should include

(a) only historical events and settings

(b) only the physical setting the actors will work
within

(c) only the situation the actors find themselves
n

(d) the setting and situation the characters are
experiencing



Which of these must be avoided in a group -

discussion?
' 6.
(a) Speaking facts
(b) Asking questions :
(c) Speaking fast
(d) Speaking with clarity
8,
Person who does not believe in the existence of
God:
i 9.
(a) Theist (b) Heretic
(c) Atheist (d) Fanatic
What is the purpose of repetition in 10.
advertisements?
(a) To confuse the audience I
(b) To emphasize key points and create
familiarity 11.
() To distract the audience from the main . 12,
message
(d) To decrease the effectiveness of the 13.
advertisement
2 S.No. 8104
e

(B) Fill in the blanks: (5% 1=5)

Fill in the blank using suitable question tag :
We won't be late,

Fill in the blanks with a linking expression :
I learned Spanish be able to find a job
during my stay in Spain.

Fill the right voice in the blank : The teacher
the students to be careful.

Fill in the blanks with the correct modal verb :
According to the weather forecast, it
snow heavily tomorrow, (may/shall)

Fill in the blank with the suitable expression : “If
youwd rather not go tonight, thats ——— to

»

me.

Answer the following questions. (B x2=10)

Define Prefix with examples.

Explain the difference between structured and
unstructured role play.

How can listening to inventors contribute to
understanding the challenges and opportunities
within their respective fields?

3 S.No. 8104



14.

.15.

16.

What are the potential drawbacks of multitasking
while listening to a presentation?

Discuss the significance of using active voice

rather than passive voice in simple sentences.

PART B — (5 x 5 = 25)

Answer ALL questions, choosing either (a) or (b)

in each.

(a) You have recently completed an internship or

(b)

work placement and want to send a
thank-you letter to your supervisor or

mentor. Write a letter expressing your

gratitude for the opportunity, summarizing
what you have learned, and expressing your
interest in staying connected.

Or

You have completed a project or milestone
and want to update your supervisor or team
members via email. Write an email
summarizing your accomplishments,
highlighting key outcomes, and expressing

appreciation for any support or collaboration.

4 S.No. 8104

17.

(a) Read the following passage and answer the

questions given below:

The water cycle begins with the process of
evaporation, in which water from oceans,
lakes, rivers and other bodies of water is
heated by the sun and changes from liquid to
vapor form. This water vapor rises into the
atmosphere, where it cools and condenses to
form clouds. Condensation occurs when water
vapor molecules come into contact with cooler
air and change back into liquid droplets.

When the droplets in clouds become large
enough, they fall to the Earth’s surface as
precipitation, which includes, rain, snow,
sleet, and hail. Precipitation replenishes
bodies of water such as rivers, lakes, and
groundwater reserves, completing the cycle.
Some precipitation flows over the land as
runoff, eventually returning to the oceans
and restarting the cycle.

The water cycle is essential for sustaining life
on Barth and supporting ecosystems. It
regulates the distribution of freshwater
resources, provides moisture for plants and
animals, and helps to regulate the Earth's
climate by transporting heat around the
globe.

S.No. 8104
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i

(b)

Questions:
() What is evaporation, and where does it
occur?

(ii) Describe the process of condensation.

(iii) Why 1s the water cycle important for
sustaining life on Earth?
(iv) Name  some materials commonly
recycled. '
(v) What are the economic benefits of
recycling? )
Or

Read the following passage and answer the
questions given below:

Bees are one of the most -important
pollinators in the world, playing a vital role
in the reproduction of flowering plants and
the production of many fruits, vegetables,
and nuts. They accomplish this by
transferring pollen from the male parts of
flowers to the female parts, facilitating
fertilization and the production of seeds.

In addition to their role in pollination, bees
also contribute to ecosystem stability and
biodiversity. They serve as food sources for
other animals, including birds and mammals,
and play a crucial role in maintaining the
health and productivity of natural habitats.

6 S.No. 8104

HDW@‘TE'K bees face NUMErous threat
including habitat loss, pesticide eXpoéurS.
climate change, and diseases such as cr;lnl'?:
collapse disorder. These threats have led t}O
def:l?nes in  bee populations worldwide,
raising  concerns about the future of
agriculture and ecosystems.

To address these challenges, efforts are
underway to promote bee conservation ang
sustainable bee keeping practices. This
includes protecting and restoring bee
habitats, reducing the wuse of harmful
pesticides, and raising awareness about the
importance of bees and other pollinators.

Questions:

(i) What role do bees play in the
reproduction of flowering plants?

(i) How do bees contribute to ecosystem
stability and biodiversity?

(ii)) What are some of the threats facing
bees?

(iv) What efforts are being made to address
these threats?

(v) Why is bee conservation important for
agriculture and ecosystems?

7 S.No. 8104



18.

(a) Change the following active voice into passive

(b)

voice:

(i) The man dropped his axe into the river.
(ii) The bird was shot by the ﬁaught‘y boy.
(iii) The bag was found by me.
(iv) Natasha lost the money.
(v) The farmer will plough the field.

Or |

Change the following passive voice into active

voice:

(i) The race was won by William.

(i) New schools are being built by the
government.

(iii) Two hamburgers have been eaten by
Steven.

(iv) The soup is cooked every week by my
mother.

(v) A new product will be launched by my

company.

8 S.No. 8104

19.

09,710 T
! 98,584 LL:{;_I |

TS

(a) The ba_r graph shows the estimated number
of vehicles taken out of production due to
microchip shortages as of May 2021.

The U.S. Car Models Worst Hit

Estimated number of vehicles taken out of production due
to microchip shortages (as of May 2021)

I By The Microchip Shortage
.

(=]
pust g
o
L8
a
1
|

RN

77 A%

Ford Jeep  Chevrolet Chevrolet  Ford Jeep Ford Ford
F-series Cherokee Equinox Malibu Explorer Compass Edge  Escape

Questions:

(i) Which model was hit the hardest by the
microchip shortage?

(i) How many vehicles did Ford take out of
production?

(iii) How many vehicles did Chevrolet take
out of production?

(iv) How many more Ford vehicles have been
taken out of production than dJeep
vehicles?

(v) What percent of the worst-hit models
were made by Ford?

Or
9 S.No. 8104



(b) The bar graph shows the rise and fall of CD

album sales in the US since 1983 in millions.

The Rise and Fall
of the Compact Disc

CD album sales in the United States since 1983.

(in million units)

1,000 m \a
800 m
600 m
400 m
11111

0m -lllll | IIIIIllIila.l
1883 1990 2000 2010 2021

Questions:

(i) What is the mode of the data and when
did it occur?

(i1) During which time periods did CD sales

break 600 million?

(iii) About how many more CDs were sold in
2000 than in 19907

(iv) Calculate the percent decline in sales
from 2000 to 2020.

(v) Give a suitable title.

10 S.No. 8104

20.

21.

22.

23..

24.

25.

Gl

(a) Draft an essay on the issue of test anxiety
and its detrimental effects on students’
performance in exams.

Or

(b) Draft an essay on how students effectively
manage their workload and maintain a
healthy work-life balance.

PART C — (3 x 10 = 30)
Answer any THREE questions.

Analyze the role of reading short passages in
developing critical thinking skills.

Define Mass Communication.

Draft an essay on the use of pesticides in
cultivation.

Explore the impact of effective slide transitions
and animations on the overall flow and coherence
of a short speech delivered through a PowerPoint
presentation.

Explore a motivational story that showcases the

transformative power of continuous learning and
skill development in career progression.

11 S.No. 8104



Time : Three hours

I -

(7 pages)
S.No. 8071 T

22 UGCES

(For candidates admitted from 2022-23 onwards)
U.G. DEGREE EXAMINATION, APRIL 2024,
Part IV — Environmental Studies

ENVIRONMENTAL STUDIES
Maximum : 75 marks

PART A — (20 marks)

Answer ALL questions.
(A) Choose the correct answer : (5x1=5)

@sdureile aupl §l fsb 2 6rer wrElad
(@) GRS () TrEevSTEn
(@) <pdr GrGse () CupE erisrand
The most drought-prone state in India is

(a) Gujarat
(c) Andhra Pradesh (d) West Ben%[

(b) Rajasthan

®o

Bs@eutiu usmw srhser ariGs srarluGélayan)
(=) CupE QeTLiésl wawsdr

(<) @uouweaas Ggmi .
@) @.U@uﬁbeﬂ weesagmLi

(FF)  FTD

‘Temperate evergreen forests are found in the

(a) Western Ghats  (b) Himalayan Range
() Aravallirange (d) Assam

sl UspQupp “weseller LETEESTEE i
S hGleTaTg] ?

(21) epeflLmed (=) enGuomel

(@) ossrand () weufl

The world famous “Valley of Flowers” is situated
in =
(a) Nainital (o) Chamoli

(c) Uttarkashi (d) Pavri

shsslen snyd

(<) wrenanler Lbhser
(<) Slmsasden erayiby
(@) wreflenr Qembyser

()  wrenamulen ergyibyy

2 S.No. 8071 T



The source of ivory is
(@) Tusk ofelephant (b) Bone of whale

(¢) Antlersofdeer (d) Bones of elephant

@pdwrailer sarer Qurss yellser sMULEkEEeT
canaflsns '

(@) 51 (=) 60

(@) 54 (FF) - 40

Total number of tiger reserves in India are

@) 51 ®) 60
(c) 54 (d) 40
(B) Fill in the blanks : (B5x1=5)
yfl 2468 LmEIG 1992 ——— @@
s Qubmg).
The earth summit 1992 was held at
o ulreumyeiley Glongglons 2 Grarg.
Biogas contains in bulk.
NOz gy —m-— e mmgm@
THUESHID.
NOz and cause acid rain.

3 . S.No. 8071 'I“

10.

II.

11.

12,

13.

14.

15.

peQ@omlutiuc L g).

pradlearhs  ellastu  apenp

proposed integrated farming system.
warflg 5,@51!5’@99633 upPw wrpr® ——— Q&
Ben_Guhmg).
Conference on Human Environment was held at

Answer the following questions : (5x2=10)

SOMIEG PO CTEmDTeDd eTebremm ?
What is environment?
yemguigeu erflGurneTser erampmed eramen ?

What are fossil fuels?

2 GG GUENEIENW GUETWIMS&EEYD.

Define food web.

2 @R T GeTiGeneT GUen TILMI&ESa|LD.

Define endemic species.

wr&UHSHsmeT U TLNIES.
Define pollutants.

4 S.No. 8071 T -
[P.T.0.]




17.

PART B — (5 x 5 = 25)
Answer ALL the questions, choosing either (a) or (b).

16. (=) euer aeamwsdr updlu  s@mEsorer @GOy
Qar(pés.

_Give brief note on forest resources.
Or
(=) shmEGdler preng UGHsar wrea ?
What are the four realms of environment?
(=) eflaTé@s :
1) fleoé frfley
(i) 2wt QurEsL.
Explain :
(i) Land degradation
(ii) Biomagnification.
Or
() Godu GhHluysmer kG :
(i) sr_flgsd
(i) fir Caésid.
_Provide short notes on :
g (1) Deforestation
(i) Water logging.
5 S.No. 8071 T

18.

19.

20.

(S) spDEGRD s@oullar slL@LUY LHyh
Qewour® und fers@s.

xplain about the structure and function of
an ecosystem.

_ Or
() STHH LISUT e SLEUUTLH Blagsmssda
upd edlaré@s. '
 Explain about Control measures of Air
pollution. .
(@) FHREGRD LTpEssaT@LaL s ss.
Explain ecosystem diversity.
Or
() uoa@uilt BHLIYsET eremen ?
What are the values of biodiversity?
(=) B wr&uT_igen eleneTeyser erémen ?

What are the effects of water pollution?

Or

(@) FLssflejser &HNIFS PO
undléfenmer ?

How do solid wastes affect the environment?

eTeueU)

6 S.No. 8071 T
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PART C — (3 x 10 = 30)
Answer any THREE questions.
21, ygussssEs GUGITTRI & 6T TG ITED 6T 6T 60T 7
SAuTs@Ler grryenLw Aréfemernser eremer?

\,.-What' are renewable resources? What are the
problems associated with them?

22.  @pdlud  Grni@pser LHDID DG  GUENESHEMaT
TOSBIEET. Ha@Ep6r eflaTdseLb.

/" Tlustrate ecological pyramids and its types with
examples. | .t .

23.  Brorsur® uhduw el fleurer @My samen @asrr@ésas.-

_faive detailed notes on water pollution.

24.  &HQFES6r 15l én v rept GUETITES) upb
elleurdlésayLb.

Discuss about sustainable development of
environment.

25.  sreflea wrhpsdler  CFwe wpeanm wHnDd  weaflg
% CrTédlwgdd Siger Umiens efleufsseyLd.

Elaborate the process of climate change and its
role in human health. |




